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KZqfd kZmftZfd lncdkr –KKLr( gZud cdlnmrsqZsdc qdlZqjZakd bZoZahkhshdr hm
kZmftZfd fdmdqZshnm: tmcdqrsZmchmf: Zmc edv/rgns kdZqmhmf hm qdbdms xdZqr0 �m
dwsdmrhud ancx ne vnqj gZr dwoknqdc gnv sgdhq odqenqlZmbd lZx ad etqsgdq hl/
oqnudc sgqntfg sgd snnkr ne oqnloshmf: qZmfhmf eqnl udqhzbZshnm: rdke/bnmrhrsdmbx:
nq hmsdqldchZsd rbqZsbgoZcr0 Hm sghr oZodq: vd oqdrdms Z bnlokdldmsZqx ZooqnZbg
sn hloqnud kZmftZfd qdronmrdr vgdqd ltkshokd kZmftZfd lncdk hmrsZmbdr oqnonrd
Zmc cdaZsd sgdhq hmchuhctZk qdronmrdr Zmc qdZrnmhmf oqnbdrrdr nudq ltkshokd qntmcr
sn Zqqhud Zs Z bnllnm zmZk Zmrvdq0 Ntq zmchmfr hmchbZsd sgZs sghr ZooqnZbg
rhfmhzbZmskx dmgZmbdr lZsgdlZshbZk Zmc rsqZsdfhb qdZrnmhmf Zbqnrr Z mtladq ne
sZrjr0 Vd Zkrn cdlnmrsqZsd sgZs ntq ZooqnZbg hloqnudr sgd eZbstZk uZkhchsx ne
fdmdqZsdc bnmsdms: qdctbhmf eZkkZbhntr Zmrvdqr Zmc gZkktbhmZshnmr sgZs bnmsdl/
onqZqx lncdkr Zqd oqnmd sn0 Ntq ZooqnZbg lZx ad chqdbskx Zookhdc sn dwhrshmf
akZbj/anw lncdkr Zmc trdr hcdmshbZk oqnbdctqd Zmc oqnlosr enq Zkk sZrjr vd hmudr/
shfZsd0 NudqZkk: ntq zmchmfr rtffdrs sgZs rtbg ]rnbhdsx ne lhmcr] ZooqnZbg gZr sgd
onsdmshZk sn rhfmhzbZmskx ZcuZmbd sgd bZoZahkhshdr ne KKLr Zmc oZud sgd vZx enq
etqsgdq aqdZjsgqntfgr hm kZmftZfd fdmdqZshnm Zmc tmcdqrsZmchmf0 Oqnidbs vdarhsd
Zs g//1rcssb9l19rVaidhl9:dirp4-/g2ap-9siilu:daV/ds0

z Gmspnctbshnm

KZqfd kZmftZfd lncdkr –KKLr( gZud cdlnmrsqZsdc qdlZqjZakd kZmftZfd fdmdqZshnm: tmcdqrsZmchmf:
Zmc edv/rgns kdZqmhmf bZoZahkhshdr hm qdbdms xdZqr0 Sgdrd ldsgncr Zqd sqZhmdc nm Z lZrrhud bnqotr ne
sdws nm sgd hmsdqmds: vgdqd sgd ptZkhsx Zmc ZbbtqZbx ne dwsqZbsdc mZstqZk kZmftZfd lZx mns ad dmrtqdc0
Sgtr: btqqdms lncdkr lZx rteedq eqnl bnmzcdmskx gZkktbhmZshmf eZbsr nq lZjhmf hlokZtrhakd itlor hm
bgZhmr ne qdZrnmhmf0 �m dwsdmrhud ancx ne qdbdms vnqj gZr enbtrdc nm hloqnuhmf eZbstZk ZbbtqZbx
Zmc qdZrnmhmf hm kZmftZfd lncdkr0 Sgdrd qZmfd eqnl oqnloshmf lncdkr vhsg edv nq ydqn/rgns
bgZhm/ne/sgntfgs cdlnmrsqZshnmr: trd ne udqhzbZshnm: rdke/bnmrhrsdmbx: nq hmsdqldchZsd rbqZsbgoZcr0

Vd mnsd sgZs sgdrd sdbgmhptdr Zqd Zookhdc nudq Z rhmfkd lncdk hmrsZmbd0 HmrsdZc: vd oqnonrd Z
bnlokdldmsZqx ZooqnZbg hmrohqdc ax Sgd Pnbhdsx ne Ihmc )fl8[ Zmc ltksh/Zfdms rdsshmfr: vgdqd
ltkshokd kZmftZfd lncdk hmrsZmbdr –nq Zfdmsr( hmchuhctZkkx oqnonrd Zmc inhmskx cdaZsd sgdhq qdronmrdr
Zmc qdZrnmhmf oqnbdrrdr sn Zqqhud Zs Z rhmfkd bnllnm Zmrvdq0 Lnqd rodbhzbZkkx: fhudm Z ptdqx:
ltkshokd hmrsZmbdr ne Z kZmftZfd lncdk zqrs fdmdqZsd hmchuhctZk bZmchcZsd Zmrvdqr sn Z ptdqx0 Sgdm
dZbg hmchuhctZk lncdk hmrsZmbd qdZcr Zmc bqhshptdr sgd qdronmrdr ne Zkk nsgdq lncdkr Zmc trdr sghr
bnmsdms sn tocZsd hsr nvm Zmrvdq0 Sghr rsdo hr sgdm qdodZsdc nudq rdudqZk qntmcr0 Sghr oqnbdrr hmctbdr
lncdkr sn bnmrsqtbs Zmrvdqr sgZs Zqd bnmrhrsdms vhsg ansg sgdhq hmsdqmZk bqhshb Zr vdkk Zr rdmrhakd hm

Oqdoqhms0 Tmcdq qduhdv0
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Ehftqd fl. LtkshYfdms CdaYsd Glopnudr QdYrnmhmf Ymc EYbstYk �bbtpYbx0 �bbtqZbx ne sqZchshnmZk hmedqdmbd
Zmc ntq ltksh/Zfdms cdaZsd nudq rhw admbglZqjr –bgdrr lnud noshlZkhsx qdonqsdc Zr Z mnqlZkhydc rbnqd(

khfgs ne sgd qdronmrdr ne nsgdq Zfdmsr0 Sgd qdrtkshmf ptnqtl ne lncdkr bZm gnkc Zmc lZhmsZhm ltkshokd
bgZhmr ne qdZrnmhmf Zmc onrrhakd Zmrvdqr rhltksZmdntrkx adenqd oqnonrhmf sgd zmZk Zmrvdq0

Vd zmc sgZs ntq cdaZsd ZooqnZbg ntsodqenqlr rhmfkd lncdk aZrdkhmdr rtbg Zr ydqn/rgns bgZhm ne
sgntfgs )flfl[ Zmc qdfidbshnm )15: fl7[ nm Z uZqhdsx ne rhw qdZrnmhmf: eZbstZkhsx: Zmc ptdrshnm/Zmrvdqhmf
sZrjr0 Trhmf ansg ltkshokd lncdk Zfdmsr Zmc ltkshokd qntmcr ne cdaZsd Zqd hlonqsZms sn Zbghdud
sgd adrs odqenqlZmbd0 Fhudm Zm hmhshZk ptdqx: vd zmc sgZs hmchuhctZk lncdk hmrsZmbdr oqnonrd Z
chudqrd qZmfd ne Zmrvdqr cdrohsd adhmf sgd rZld lncdk bkZrr –Zksgntfg vd Zkrn hmudrshfZsd sgd bZrd ne
lhwhmf cheedqdms lncdk sxodr: rtbg Zr bgZsFOS )1fl[ Zmc AZqc )12[(0 �esdq cdaZshmf Zmc dwZlhmhmf
sgd qdronmrdr ne nsgdq lncdk hmrsZmbdr: vd zmc sgZs sgd onotkZshnm Zklnrs ZkvZxr bnmudqfdr nm Z
rhmfkd Zmc lnqd ZbbtqZsd bnllnm Zmrvdq0 CdaZsd qdrtksr Zqd Zkrn kdrr khjdkx sn hmbktcd eZkrd eZbsr
sgZs lncdkr Zqd hmsdqmZkkx tmbdqsZhm ne0 Sghr hr adbZtrd Zr sgd cdaZsd oqnfqdrrdr: hmchuhctZk lncdk
hmrsZmbdr sdmc sn chrZfqdd nm tmbdqsZhm eZbsr Zmc nlhs sgdl eqnl sgd Zmrvdq –Ehftqd 6(0 KZrskx: vd
zmc sgZs cdaZsd cndr mns itrs Zbs sn Zlokhex nmd bnqqdbs Zmrvdq hm Z lncdk ptnqtl / vd zmc lZmx
bZrdr vgdqd Zkk sgd lncdkr hmhshZkkx lZjd hmbnqqdbs oqdchbshnmr: ats sgdm Zqqhud Zs sgd bnqqdbs Zmrvdq
Zr cdaZsd oqnfqdrrdr –Ehftqd 3:flfl(0

Vd trd sgd rZld ldsgncnknfx Zmc oqnlos sdlokZsdr enq Zkk ntq sZrjr Zmc qdpthqd nmkx akZbj/anw
Zbbdrr sn kZmftZfd lncdk fdmdqZshnmr - mn lncdk/hmsdqmZk hmenqlZshnm rtbg Zr khjdkhgnncr nq fqZchdmsr
hr mddcdc0 Sghr Zkknvr ntq ldsgnc sn ad trdc vhsg bnllnm otakhb lncdkr rdquhmf hmsdqeZbdr0 Sgd
ldsgnc hr Zkrn nqsgnfnmZk sn nsgdq lncdk fdmdqZshnm hloqnudldmsr rtbg Zr qdsqhduZk nq oqnlos
dmfhmddqhmf –hm eZbs: vd bnlahmd ntq cdaZsd ldsgnc vhsg ydqn/rgns bgZhm ne sgntfgs(0 Vghkd sgd
cdaZsd oqnbdrr hr lnqd bnrskx: qdpthqhmf ltkshokd lncdk hmrsZmbdr Zmc qntmcr: hs Zqqhudr Zs rhfmhzbZmskx
hloqnudc Zmrvdqr Zmc lZx ad trdc sn fdmdqZsd ZcchshnmZk lncdk sqZhmhmf cZsZ: deedbshudkx bqdZshmf Z
lncdk rdke/hloqnudldms knno0

Sn gdko duZktZsd sgd deedbs ne ntq ZooqnZbg nm eZbstZk ZbbtqZbx: vd hmsqnctbd Z mdv admbglZqj
Zmc cZsZrds duZktZshmf eZbstZk ZbbtqZbx ne eZlntr bnlotsdq rbhdmshrs ahnfqZoghdr0 Vd zmc sgZs
bnmsdlonqZqx kZmftZfd lncdkr gZud Zm drodbhZkkx ghfg sdmcdmbx sn gZkktbhmZsd eZbstZkkx hmbnqqdbs
ahnfqZoghdr: nesdm lhrqdoqdrdmshmf sgd qdkduZms hmrshstshnmr Zmc cZsdr0 Lnqdnudq: sgdrd eZbsr nesdm
hmbnmrhrsdms Zbqnrr cheedqdms kZmftZfd lncdk hmrsZmbdr0 Ax Zrjhmf lncdkr sn bnld sn Z bnmrdmrtr
Zbqnrr sgdhq Zmrvdqr: rtbg hmbnmrhrsdms eZbsr lZx ad dhsgdq qdlnudc nq bnqqdbsdc0

Hm rtllZqx: ntq vnqj bnmsqhatsdr sgd enkknvhmf0 Ehqrs: vd oqdrdms Z mnudk ZooqnZbg sn hloqnuhmf
eZbstZk bnqqdbsmdrr Zmc qdZrnmhmf ZbbtqZbx hm bnmsdlonqZqx kZmftZfd lncdkr: kdudqZfhmf Z ltksh/
Zfdms cdaZsd oqnbdrr adsvddm lncdkr0 Rdbnmc: vd hmsqnctbd Z mdv admbglZqj ne eZbstZk bnqqdbsmdrr
vghbg bnmsdlonqZqx kZmftZfd lncdkr rsqtffkd vhsg0 EhmZkkx: vd duZktZsd sgd odqenqlZmbd ne ntq
cdaZsd oqnbdctqd hm kZmftZfd fdmdqZshnm: ansg hm sdqlr ne sgd mtladq ne Zfdmsr: sgd tmcdqkxhmf
qntmcr ne cdaZsd: Zmc sgd oqnlosr sgZs dkhbhs rtbg adgZuhnq Zbqnrr Z rds ne rhw cheedqdms qdZrnmhmf Zmc
eZbstZk ZbbtqZbx sZrjr0

1 KYmftYfd FdmdpYshnm sgpntfg LtkshYfdms CdaYsd

Vd oqdrdms Zm ZooqnZbg sn fdmdqZsd kZmftZfd qdronmrdr sgqntfg ltkshZfdms cdaZsd0 Vd oqnuhcd Zm
nudquhdv ne ntq ZooqnZbg hm Rdbshnm 10fl0 Vd etqsgdq chrbtrr bnmudqfdmbd sn bnmrdmrtr hm sgd cdaZsd
oqnbdrr hm Rdbshnm 1010 Sgd nudqZkk nudquhdv ne ntq ZooqnZbg hr rgnvm hm Ehftqd 10
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Round 1

Agent 2: If there were 175 diamonds,

then the number of rubies is 35 fewer,

or 175 - 35 = 140 rubies.

And since there were twice as many

emeralds as rubies, we can represent the

number of emeralds as 2 * 140 = 280

emeralds.

To find the total number of gems in the

chest, we can add up the number of

diamonds, rubies, and emeralds:

175 + 140 + 280 = 595. Therefore, there

were 595 gems in the chest.

Agent 1: Let x be the number of rubies. Then the number of diamonds is 175.

And the number of emeralds is 2(x-35), since there are twice as many

emeralds as rubies and there are 35 fewer rubies than diamonds.

To find the total number of gems, we add the number of diamonds, rubies,

and emeralds: Total gems = 175 + x + 2(x-35) = 3x + 105.

We don't know the exact value of x, but we do know that it represents the

number of rubies, which is less than 175 (since there are 35 fewer rubies than

diamonds). Let's try some values of x: If x = 50, then the total gems = 3(50) +

105 = 255. If x = 100, then the total gems = 3(100) + 105 = 405.

Since we know there were fewer rubies than diamonds, the answer must be

closer to 255 than to 405. After some trial and error, we can find that x = 40

gives us: Total gems = 3(40) + 105 = 225.

User Input: A treasure hunter found a buried treasure chest filled with gems. There were 175 diamonds, 35 fewer rubies than

diamonds, and twice the number of emeralds than the rubies. How many of the gems were there in the chest?

User Input: Using the solutions from other agents as additional information, can you give an updated response....

!"

Agent 2: After reviewing the solutions

provided by other agents, I agree with

the second agent who found that the

number of rubies is 140 and the total

number of gems in the chest is 595.

Therefore, my answer to the math

problem is 595.

Agent 1: Given the information provided in other agents' solutions, we have

two answers: One agent found that the number of rubies is 40 and the total

number of gems is 225. Another agent found that the number of rubies is

140 and the total number of gems is 595.

We know that the number of rubies is 35 fewer than the number of

diamonds, which is 175. So the number of rubies should be 175 - 35 = 140,

as the second agent found. However, the agent who found 225 gems

assumed that the number of emeralds is twice the number of rubies minus

35, rather than twice the number of rubies. If we use this assumption, we

get: Number of rubies = 140. Number of emeralds = 2 * 140 - 35 = 245.

Total number of gems = 175 + 140 + 245 = 560. Our final answer is 560.

Round 2

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

!"

Agent 2: After reviewing the solutions

provided by other agents, I also agree

that the number of rubies is 140 and the

total number of gems in the chest is 595.

Therefore, my answer to the math

problem is also 595.

Agent 1: After reviewing the solutions provided by other agents, I agree

with the second agent who found that the number of rubies is 140 and the

total number of gems in the chest is 595. Therefore, my answer to the math

problem is 595.

Round 3

!!

User Input: Using the solutions from other agents as additional information, can you give an updated response....

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Ehftqd 1. GkktrspYshnm ne CdaYsd0 HkktrsqZshnm ne sgd cdaZsd oqnbdctqd0

10z LtkshYfdms KYmftYfd FdmdpYshnm

Bnmrhcdq xntq vnqj oqnbdrr vgdm rnkuhmf sgd enkknvhmf lZsg ptdrshnm nm Zm dwZl. ,UgYs hr sgd
YqdY ne Y sqhYmfkd vhsg rhcd kdmfsgr ne 2: 3: 4“*0 Hm nmd sgqdZc ne vnqj: xnt lZx qdbnfmhyd sgZs sgd
sqhZmfkd rhcd/kdmfsgr chqdbskx bnqqdronmc sn Z qhfgs sqhZmfkd: Zmc sgtr chqdbskx bnlotsd sgd ZqdZ Zr
)θ4� 0� 3 6 530 Sn lZjd rtqd sgZs xnt gZud sgd qhfgs Zmrvdq: xnt lZx sgdm sqx sn rnkud sgd oqnakdl
cheedqdmskx ax drshlZshmf Zm Zmfkd � hm sgd sqhZmfkd trhmf sgd KZv ne Bnrhmdr: Zmc sgdm nasZhm sgd ZqdZ
ax trhmf sgd enqltkZ )θ4� 0� 3� n=i��(: Zqqhuhmf Zs Zmnsgdq Zmrvdq sn sgd fhudm dwZl oqnakdl0

Vgdm sgdrd khmdr ne vnqj fhud sgd rZld Zmrvdq: xntq bnmzcdmbd Zants sgd Zmrvdq hmbqdZrdr0 Hm
bnmsqZrs: vgdm sgdrd Zmrvdqr Zqd cheedqdms: hmchuhctZk khmdr ne vnqj lZx dmfZfd hm Z ldmsZk ”cdaZsd]
oqnbdctqd: vgdqd xnt bknrdkx bqnrr/dwZlhmd sgd qdZrnmhmf Zmc Zrrtloshnmr ne dZbg khmd ne vnqj Zmc
qdzmd rnktshnmr tmshk Z bnmrhrsdms Zmrvdq0

RhlhkZqkx: bnmrhcdq vqhshmf Z ahnfqZogx ne Z ghrsnqhbZk zftqd0 Sn dmrtqd sgd eZbstZkhsx ne sgd ahnfqZogx:
xnt lZx bnmrtks ltkshokd cheedqdms rntqbdr nm dZbg eZbs0 EZbsr sgZs Zqd bnmrhrsdms hm dZbg rntqbd
hmbqdZrd xntq bnmzcdmbd Zants sgd eZbs0 Hm bnmsqZrs: eZbsr sgZs Zqd hmbnmrhrsdms qdpthqd bZqdetk
bqnrr/dwZlhmZshnm adsvddm rntqbdr sn cdsdqlhmd sgd zmZk bnmrhrsdms cZsZ0
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CdaYsd Kdmfsg Opnlos

Rgnqs * Sgdrd Yqd sgd rnktshnmr sn sgd oqnakdl eqnl nsgdq Yfdmsr. )nsgdq Ymrvdqr[
AYrdc nee sgd nohmhnm ne nsgdq Yfdmsr: bYm xnt fhud Ym tocYsdc qdronmrd � � �*

Knmf * Sgdrd Yqd sgd rnktshnmr sn sgd oqnakdl eqnl nsgdq Yfdmsr. )nsgdq Ymrvdqr[
Trhmf sgd nohmhnm ne nsgdq Yfdmsr Yr YcchshnmYk Ycuhbd: bYm xnt fhud Ym tocYsdc qdronmrd � � �*

Ehftqd 2. Opnlosr sn hmctbd knmf Ymc rgnps enpl cdaYsd0 Qdronmrdr ne nsgdq Zfdmsr sn ptdrshnmr Zqd Zqd
hmrdqsdc hm sgd lhcckd ne sgd oqnlos –hmchbZsdc vhsg )nsgdq Ymrvdqr[(

Sn lhlhb sgd Zanud ltksh/sgqdZcdc qdZrnmhmf oqnbdrr Zmc ltksh/rntqbd eZbstZkhsx bgdbjhmf oqnbdrrdr:
vd oqnonrd sn fdmdqZsd Zmrvdqr rtaidbs sn Z ltksh/Zfdms cdaZsd oqnbdctqd adsvddm ltkshokd hmrsZmbdr
ne kZqfd kZmftZfd lncdkr0 Fhudm Z ptdrshnm: ltkshokd Zfdmsr qdoqdrdmsdc Zr bnohdr ne Z kZqfd kZmftZfd
lncdk: fdmdqZsd Zmrvdqr sn sgd ptdrshnm0 DZbg qdronmrd rdqudr Zr Z onrrhakd sgntfgs oqnbdrr nq rntqbd
ne hmenqlZshnm vghbg Zfdmsr lZx qd/dwZlhmd sn zmc bnmrhrsdms zmZk Zmrvdqr0

�esdq hmhshZk qdronmrdr Zqd fdmdqZsdc eqnl cheedqdms Zfdmsr: vd hmhshZsd Z qntmc ne cdaZsd adsvddm
Zfdmsr0 HmchuhctZk qdronmrdr eqnl nsgdq Zfdmsr Zqd bnmbZsdmZsdc Zmc fhudm Zr bnmsdws sn dZbg Zfdms:
vhsg dZbg Zfdms hmrsqtbsdc sn bnmrsqtbs Z mdv qdronmrd aZrdc nm rtbg qdronmrdr0 DZbg kZmftZfd Zfdms
hr sgtr qdronmrhakd enq ansg udqhexhmf sgd bnkkdbshnm ne qdronmrdr fhudm ax nsgdq Zfdmsr: Zmc qdzmhmf
hsr nvm qdronmrd aZrdc nm nsgdq Zfdmsr@ qdronmrdr0 Vd hsdqZshudkx qdodZs sghr cdaZsd oqnbdctqd nudq
ltkshokd qntmcr enq hloqnudc odqenqlZmbd0

Bnmbqdsdkx: vd zqrs oqnlos dZbg Zfdms sn hmcdodmcdmskx rnkud sgd fhudm oqnakdl nq sZrj0 �esdq
dZbg Zfdms fdmdqZsdr Z qdronmrd: vd eddc dZbg Zfdms Z bnmrdmrtr oqnlos: hkktrsqZsdc hm Ehftqd 2:
vgdqd dZbg Zfdms hr hmrsqtbsdc sn tocZsd sgdhq qdronmrdr aZrdc nm sgd qdronmrdr ne nsgdq Zfdmsr0 Sghr
qdrtksZms bnmrdmrtr oqnlos lZx sgdm ad qdodZsdckx fhudm: trhmf sgd tocZsdc qdronmrdr ne dZbg Zfdms0
Vd hkktrsqZsd Zm nudquhdv ne sghr ltkshZfdms cdaZsd oqnbdctqd hm Ehftqd 10

Mnsd sgZs ntq oqnonrdc ZooqnZbg nodqZsdr hm Zm nqsgnfnmZk lZmmdq sn dwhrshmf ZooqnZbgdr sn oqnlos
kZmftZfd lncdkr0 Fhudm Z ptdrshnm: vd lZx Zookx ZcchshnmZk sdbgmhptdr enq oqnloshmf kZmftZfd
lncdkr sn etqsgdq hloqnud ntq cdaZsd oqnbdctqd ax dkhbhshmf ZcchshnmZk lnqd cdsZhkdc qdronmrdr
eqnl kZmftZfd lncdkr0 Vd hkktrsqZsd sgd rxmdqfx ne ntq ZooqnZbg vhsg dwhrshmf ZooqnZbgdr sn
oqnloshmf kZmftZfd lncdkr hm Ehftqd 5 Zmc chqdbskx Zookx ydqn/rgns bgZhm/ne/sgntfgs qdZrnmhmf hm
ntq duZktZshnmr0

101 Bnmrdmrtr hm CdaYsdr

Fhudm ltkshokd qntmcr ne cdaZsd: gnv bZm vd dmrtqd sgZs Z rds ne kZmftZfd lncdk Zfdmsr vhkk bnmudqfd
sn Z zmZk bnmrdmrtr Zmrvdq! Hm fdmdqZk: cdaZsd bZm ad rddm Zr Z ltksh/Zfdms fZld: vgdqd bnmudqfdmbd
hr mns ftZqZmsddc0 DlohqhbZkkx: gnvdudq: vd zmc sgZs kZmftZfd lncdkr Zqd Zakd sn bnmudqfd nm Z
rhmfkd rgZqdc Zmrvdq Zesdq ltkshokd qntmcr ne cdaZsd –Ehftqd 3(0

Vd entmc sgZs vd bntkc bnmsqnk sgd ctqZshnm ne cdaZsdr ax gnv bgZmfhmf gnv ltbg Z kZmftZfd lncdk
sqtrsr hsr nvm ntsotsr nudq sgnrd fdmdqZsdc ax nsgdq lncdkr sgqntfg cheedqdms oqnlosr0 Vd hkktrsqZsd
svn oqnlosr adknv hm Ehftqd 2: vghbg vd trd sn hmctbd cheedqdms cdaZsd ctqZshnmr adsvddm kZmftZfd
lncdkr: Zmc hkktrsqZsd sgd deedbs ne rtbg oqnlosr hm Ehftqd fl10 Hm fdmdqZk: vd entmc sgZs oqnlosr sgZs
dmbntqZfdc lncdkr sn ad lnqd ”rstaanqm@ aZrdc nm sgdhq nvm rnktshnmr kdc sn knmfdq cdaZsdr Zmc
adssdq zmZk rnktshnmr0 NudqZkk: vd nardqudc sgZs kZmftZfd lncdk Zfdmsr vdqd qdkZshudkx ]ZfqddZakd]:
odqgZor Zr Z qdrtks ne hmrsqtbshnm stmhmf nq qdhmenqbdldms kdZqmhmf aZrdc nm gtlZm eddcaZbj )11[0

2 Dwodphldmsr

Hm ntq dwodqhldmsr: vd duZktZsd ntq ltkshZfdms cdaZsd oqnbdctqd Zmc Zmrvdq sgd enkknvhmf ptdrshnmr.
:z( Sn vgZs dwsdms cndr ltkshZfdms cdaZsd hloqnud qdZrnmhmf! :1( Sn vgZs dwsdms cndr ltkshZfdms
cdaZsd hloqnud eZbstZk uZkhchsx! :2( VgZs cdrhfm bgnhbdr dmZakd ltkshZfdms cdaZsd sn hloqnud
kZmftZfd fdmdqZshnm odqenqlZmbd!

20z Glopnuhmf QdYrnmhmf vhsg LtkshYfdms CdaYsd

Vd zqrs duZktZsd sgd dwsdms sn vghbg ltkshZfdms cdaZsd hloqnudr sgd tmcdqkxhmf qdZrnmhmf oqnbdrr hm
kZmftZfd lncdkr0

SYrir0 Vd duZktZsd ntq ZooqnZbg nm sgqdd qdZrnmhmf sZrjr ne hmbqdZrhmf chezbtksx.
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Question:What is the result of 10+20*23+3-11*18?

Agent 2: 369Agent 1: 269 ✗

Agent 2: 275Agent 1: 275 ✓✓

Round 1

Round 2

✗ Agent 2: -351Agent 1: 378

Question:What is the result of 3+7*9+19-21*18?

✗ Agent 3: -357

Agent 2: -293 ✓✓ Agent 3: 19

✗ ✗

✗Agent 1: -293

Round 2

Round 1

Question:What is the result of 4+23*6+24-24*12?

Agent 1: -146

Agent 1: -244 ✗

Agent 2: -122

Agent 2: -146

✓✗

Agent 2: -122Agent 1: -122 ✓

✗

✓Round 3

Question:What is the result of 8+14*15+20-3*26?

Agent 2: -214Agent 1: 236 ✗ Agent 3: 210

Agent 2: 160 ✓✓ Agent 3: 160

✗ ✗

Agent 1: 160

Agent 2: 160 ✓✓ Agent 3: 160Agent 1: 160

✓

✓

Ehftqd 3. GkktrspYshnm ne Rnkuhmf LYsg0 QdZrnmhmf adsvddm Zfdmsr hr nlhssdc0

Question: Regina wrote 9 novels last year. If

this is 3 quarters of the number of novels she

has written this year, how many novels has she

written this year?

Agent 2: 30Agent 1: 18

Question: Dennis uses 1 pound of butter for every dozen

croissants that he makes. He needs to make 6 dozen croissants.

The grocery store currently has a promotion for buy one pound

of butter get one half off. If the butter costs $4.00 a pound,

how much will it cost him to purchase 6 pounds of butter?

✗✓

Agent 2: 18Agent 1: 18 ✓✓

Agent 2: 12Agent 1: 48 ✗ ✓

Agent 2: 12Agent 1: 12 ✓✓

Round 1

Round 2

Ehftqd 4. GkktrspYshnm ne Rnkuhmf FpYcd Rbgnnk LYsg0 QdZrnmhmf adsvddm Zfdmsr nlhssdc0

’ �.-/gld/-bp Vd zqrs duZktZsd sgd Zahkhsx ne lncdkr sn bnqqdbskx duZktZsd Zm Zqhsgldshb dwoqdrrhnm
–bnmsZhmhmf Zcchshnm: ltkshokhbZshnm: Zmc rtasqZbshnm( bnmrhrshmf ne rhw cheedqdms svn/chfhs mtladqr0
Enq dwZlokd. UgYs hr sgd qdrtks ne fi1"fi4]1fi"9/2]16“

’ CPLeGp Mdws: vd bnmrhcdq gZqcdq lZsgdlZshbZk qdZrnmhmf sZrjr0 Trhmf sgd FRL7J cZsZrds )2[:
sgd lncdkr ltrs bnqqdbskx rnkud fqZcd rbgnnk lZsgdlZshbZk qdZrnmhmf sZrjr0

’ Bgdrr L9_d N.d:-b/-9mp EhmZkkx: vd bnmrhcdq sgd rsqZsdfhb qdZrnmhmf ne sgd Zahkhsx ne lncdkr:
Zmc Zrj lncdkr sn oqdchbs sgd adrs mdws lnud hm Z fZld ne bgdrr: fhudm sgd zqrs fl3 lnudr ne Z bgdrr
fZld adsvddm svn bgdrr fqZmc/lZrsdqr cdrbqhadc hm OFM mnsZshnm )5[0

Vd qdonqs sgd ZbbtqZbx ne zmZk Zmrvdqr hm Zqhsgldshb Zmc FRL7J sZrjr Zmc qdonqs sgd oZvm rbnqd
–ZcuZmsZfd( ne oqdchbsdc lnudr: Zr drshlZsdc ax Rsnbjzrg hm sgd Bgdrr lnud oqdchbshnm sZrjr0
�cchshnmZk cdsZhkr lZx ad entmc hm sgd �oodmchw0

Ehftqd 5. Rxmdpfx vhsg Nsgdp Ldsgncr0 Odq/
enqlZmbd ne cdaZsd hmbqdZrdr vhsg trd ne BgZhm
ne Sgntfgs oqnloshmf0

AYrdkhmdr0 Vd bnloZqd ntq ZooqnZbg sn sgqdd Zksdq/
mZshud ZooqnZbgdr sn fdmdqZsd qdronmrdr enq qdZrnmhmf
oqnakdlr0 Ehqrs: vd Zrj Zfdmsr sn chqdbskx fdmdqZsd
qdronmrdr –rhmfkd Zfdms(0 Mdws: vd bnmrhcdq Zrjhmf kZm/
ftZfd lncdkr sn fdmdqZsd Zmc sgdm ]rdke/qdfidbs] nm sgd
qdronmrdr fdmdqZsdc )15: fl7[0 EhmZkkx: vd bnmrhcdq fdm/
dqZshmf qdronmrdr trhmf ltkshokd Zfdmsr Zmc odqenqlhmf
lZinqhsx unshmf )fl4: 2[0 �r sgd enbtr ne ntq dwodqh/
ldmsr hr sn udqhex sgd deedbshudmdrr ne ltkshZfdms Zfdms
cdaZsd: vd qtm ansg aZrdkhmdr Zmc ntq ZooqnZbg: trhmf
sgd hcdmshbZk rsZqshmf oqnlos Zmc kZmftZfd lncdk Zbqnrr
Zkk duZktZshnmr0 Vd duZktZsd lncdkr hm Z ydqn/rgns rds/
shmf: vhsg oqnlosr entmc hm sgd �oodmchw ne sgd oZodq0
Vd trd bgZsFOS/aZrdc kZmftZfd lncdk )1fl[ hm Zkk ntq dwodqhldmsr dwbdos sgnrd hm Ehftqd flfl vgdqd
vd bnloZqd ltkshokd kZmftZfd lncdkr0

Ctd sn bnlotsZshnmZk dwodmrd: vd duZktZsd ntq ZooqnZbg Zbqnrr admbglZqjr lZhmkx trhmf sgqdd
Zfdmsr vhsg svn qntmcr ne cdaZsdr: Zksgntfg vd entmc etqsgdq fZhmr vhsg ansg lnqd Zfdmsr Zmc qntmcr
ne cdaZsd –Ehftqd fl9(0 �cchshnmZk duZktZshnm cdsZhkr Zqd entmc hm sgd �oodmchw0

PtYmshsYshud Qdrtksr0 Hm SZakd fl: vd qdonqs sgd qdrtksr ne dZbg ZooqnZbg nm Zqhsgldshb: fqZcd rbgnnk
lZsg: Zmc bgdrr qdZrnmhmf sZrj0 Hm dZbg sZrj: vd nardqud sgZs tshkhyhmf ltkshokd cheedqdms Zfdmsr sn
fdmdqZsd rnktshnmr hloqnudr odqenqlZmbd nudq trhmf Z rhmfkd kZmftZfd lncdk Zfdms sn fdmdqZsd Z
rnktshnm0 RhltksZmdntrkx: vd Zkrn rdd sgZs qdfidbshnm: vgdqd Z kZmftZfd lncdk hr Zrjdc sn bqhshptd
hsr dZqkx fdmdqZshnm: fdmdqZkkx fhudr Z lncdrs annrs hm odqenqlZmbd0 LtkshZfdms cdaZsd: vghbg lZx
ad rddm Zr Z bnlahmZshnm ne ansg qdfidbshnm Zmc ltkshZfdms fdmdqZshnm: fhudr Z rtarsZmshZk annrs hm
qdZrnmhmf Zbqnrr dZbg ne sgd sZrjr0
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Lncdk �phsgldshb :)( ± FpYcd Rbgnnk LYsg :)( ± Bgdrr :�OR( ±
Rhmfkd �fdms 5609 � 306 6609 � 301 8fl03 � fl905
Rhmfkd �fdms –Qdfidbshnm( 610fl � 304 6409 � 302 fl910fl � flfl08
Ltksh/�fdms –LZinqhsx( 5809 � 305 7fl09 � 208 fl9101 � 501
Ltksh/�fdms –CdaZsd( 7z07 � 102 7409 � 204 z1108 � 605

SZakd fl. LtkshYfdms CdaYsd Glopnudr QdYrnmhmf Ltksh/Zfdms cdaZsd hloqnudr sgd qdZrnmhmf Zahkhshdr ne
kZmftZfd lncdkr0 Ltksh/Zfdms qdrtksr hm sgd sZakd Zqd qtm vhsg 2 Zfdmsr Zmc svn qntmcr ne cdaZsd0

Prompt: Give a bullet point biography of David S. Johnson highlighting their contributions and

achievements as a computer scientist, with each fact separated with a new line character.

Agent 2: -- David S. Johnson is an American

computer scientist and mathematician.

-- Johnson was elected to the National Academy of

Engineering in 2006.

-- He has been awarded numerous honors and

awards for his contributions to computer science,

including the ACM SIGMOD Innovations Award

and the Knuth Prize.

Agent 1: -- He earned his bachelor's degree from

Dartmouth College in 1967 and his Ph.D. from

MIT in 1973.

-- Johnson has received numerous awards for his

research and contributions to computer science,

including the ACM Turing Award in 2013.

-- Johnson's research interests include

optimization, algorithms, and complexity theory.

!

Round 1

"

"

!

Agent 2: -- David S. Johnson is an American

computer scientist and mathematician.

-- He has worked at several prestigious

universities, including Columbia University, AT&T

Bell Laboratories, and Cornell University.

-- Johnson is known for his work in the field of

algorithms, particularly in the areas of network

optimization, combinatorial optimization, and

scheduling theory.

Agent 1: -- David S. Johnson is a computer

scientist and mathematician.

-- Johnson was elected to the National

Academy of Engineering in 2006.

-- He has received numerous awards for his

contributions to computer science,

including the ACM Turing Award in 2013

and the Knuth Prize.

!

Round 2

"

!

"

!

!

!

"

Ehftqd 6. GkktrspYshnm ne FdmdpYshmf AhnfpYoghdr0 HkktrsqZshnm ne fdmdqZshmf atkkds ahnfqZoghdr ne bnlotsdq
rbhdmshrsr0 Enq aqduhsx: nmkx sgd zqrs 2 fdmdqZsdc atkkdsr Zqd rgnvm0

PtYkhsYshud Qdrtksr0 Hm Ehftqd 3: 4: vd oqnuhcd ptZkhsZshud hkktrsqZshnmr ne sgd cdaZsd oqnbdctqd
adsvddm lncdkr0 Hmsdqdrshmfkx: vd zmc bZrdr hm vghbg Zkk lncdkr hmhshZkkx fhud Zm hmbnqqdbs qdronmrd:
xds sgd qdrtks ne cdaZsd rshkk nasZhmr sgd bnqqdbs Zmrvdq Zr Zfdmsr bqhshptd dZbg nsgdqr@ qdZrnmhmf0 Sgtr:
sgd otqonrd ne ntq cdaZsd hrm@s itrs sn Zlokhex Z bnqqdbs Zmrvdq - Zkk lncdkr bZm hmhshZkkx ad vqnmf
ats Zqqhud Zs sgd bnqqdbs Zmrvdq sgqntfg sgd cdaZsd oqnbdrr0

BnloYshahkhsx vhsg nsgdp pdYrnmhmf ldsgncr0 Ntq ltkshZfdms fdmdqZshnm oqnbdctqd nodqZsdr
nqsgnfnmZkkx ZooqnZbg sn nsgdq oqnloshmf ldsgncr vghbg enbtr nm rhmfkd/Zfdms fdmdqZshnm0 Hm
Ehftqd 5: vd hkktrsqZsd sgd odqenqlZmbd ne ltksh/Zfdms cdaZsd vhsg Zmc vhsgnts ydqn/rgns bgZhm/ne/
sgntfgs oqnloshmf )flfl[ nm FRL7J0 Hm ansg rdsshmfr: ltkshZfdms fdmdqZshnm hr admdzbhZk0

201 DwspYbshmf EYbstYk GmenplYshnm epnl LtkshYfdms CdaYsd

Vd mdws duZktZsd sgd dwsdms sn vghbg ltkshZfdms cdaZsd hloqnudr sgd tmcdqkxhmf eZbstZkhsx hm kZmftZfd
lncdkr0

SYrir0 Vd duZktZsd sgd eZbstZkhsx ne kZmftZfd lncdkr hm sgqdd cheedqdms rdsshmfr.

’ A-94.V1g-drp Sn duZktZsd sgd eZbstZkhsx ne kZmftZfd lncdkr: vd hmsqnctbd Z mnudk sZrj ne
ZbbtqZsdkx fdmdqZshmf ghrsnqhbZk ahnfqZoghdr ne odnokd0 Hm oqdkhlhmZqx sdrshmf: vd entmc sgZs
dwhrshmf kZmftZfd lncdkr gZc Z sdmcdmbx sn gZkktbhmZsd lZmx eZbsr nm sghr sZrj0 Vd bnmrsqtbsdc
fqntmc sqtsg atkkds onhms ahnfqZoghdr ne 413 vdkk/jmnvm bnlotsdq rbhdmshrsr0 Vd sgdm Zrjdc
kZmftZfd lncdkr sn fdmdqZsd atkkds onhms ahnfqZoghdr enq dZbg odqrnm: Zmc duZktZsdc sgd ZbbtqZbx Zs
vghbg dZbg fqntmc sqtsg atkkds onhms Zfqddc vhsg fdmdqZsdc atkkdsr0 Vd qdonqs ZcchshnmZk duZktZshnm
cdsZhkr hm sgd �oodmchw0
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Question: You suspect that your patient has an

enlarged submandibular salivary gland. You expect

the enlarged gland: A) to be palpable intraorally. B)

to be palpable extraorally. C) to be palpable both

intra- and extraorally. D) only to be detectable by

radiographical examination.

Agent 2: BAgent 1: C ✗✓Round 1

Round 2

Agent 3: C

Agent 2: CAgent 1: C ✓✓ Agent 3: C ✓

✓Agent 2: CAgent 1: A ✗ Agent 3: D

Agent 2: D ✓✓ Agent 3: D

✗

Agent 1: D

Question: Six positive integers are written on the

faces of a cube. Each vertex is labeled with the

product of the three numbers on the faces adjacent to

the vertex. If the sum of the numbers on the vertices

is equal to 1001, then what is the sum of the numbers

written on the faces? A) 18. B) 13. C) 1001. D) 31.

✓

✓

Ehftqd 7. GkktrspYshnm ne LLKT0 HkktrsqZshnm ne cdaZsd vgdm Zmrvdqhmf eZbstZk sZrjr0 QdZrnmhmf nlhssdc0
Lncdk AhnfpYoghdr LLKT Bgdrr Lnud UYkhchsx

Rhmfkd �fdms 5509 � 101 5208 � 307 1802 � 105
Rhmfkd �fdms –Qdfidbshnm( 5702 � 108 4606 � 409 2707 � 108
Ltksh/�fdms –CdaZsd( 6207 � 102 6z0z � 305 3401 � 108

SZakd 1. LtkshYfdms CdaYsd Glopnudr EYbstYk �bbtpYbxLtksh/Zfdms cdaZsd hloqnudr sgd eZbstZk ZbbtqZbx0

’ LLKSp Mdws: vd Zrrdrr sgd eZbstZkhsx ne kZmftZfd lncdkr hm qdronmchmf sn cheedqdms eZbstZk jmnvk/
dcfd ptdrshnmr sxohbZkkx kdZqmdc Zmc Zrrdrrdc hm cheedqdms dwZlr0 Vd tshkhyd sgd dwhrshmf LLKT
cZsZrds )7[ sn admbglZqj sgd ZbbtqZbx ne qdronmrdr0

’ Bgdrr L9_d UVi-:-/xp KZrskx: vd rstcx sgd gZkktbhmZshnmr hm kZmftZfd lncdkr vgdm okZmmhmf
tmcdq sn sgd fhudm qtkdr ne Zm dwhrshmf dmuhqnmldms nq fZld0 RodbhzbZkkx: vd ldZrtqd sgd uZkhchsx
ne onrrhakd lnudr hm Z fZld ne Bgdrr fhudm ax AHF/Admbg Bgdrr/RsZsd SqZbjhmf AdmbglZqj )16[
sZrj ne bgdrr/lnud oqdchbshnm0 Hm sghr sZrj: Zm Zfdms hr fhudm Z rds ne mdws lnudr: Zmc ltrs lZjd Z
uZkhc mdws lnud ne Z ohdbd nm Z anZqc0

AYrdkhmdr0 Vd trd sgd rZld aZrdkhmdr Zr hm Rdbshnm 20fl0 Sgd ltkshZfdms –lZinqhsx( hr mns chqdbskx
ZookhbZakd hm sghr rdsshmf Zr hmchuhctZk qdronmrdr Zqd mns dZrhkx bnloZqZakd: Zmc rn vd nlhs aZrdkhmd
bnloZqhrnm vhsg sgd lZinqhsx unshmf hm sghr rdsshmf0

Qdrtksr0 Vd ZmZkxyd sgd odqenqlZmbd ne dZbg ldsgnc hm SZakd 10 Vd entmc sgZs ZooqnZbgdr
aZrdc nm qdfidbshnm kdc sn onnq odqenqlZmbd hm sgd eZbstZkhsx rdsshmf0 Hm bnmsqZrs: cdaZsd fhudr sgd
adrs odqenqlZmbd hm sghr rdsshmf Zkrn: Zmc rhfmhzbZmskx ntsodqenqlr dZbg aZrdkhmd0 Vd hkktrsqZsd Z
cdaZsd adsvddm Zfdmsr nm sgd ahnfqZogx sZrj hm Ehftqd 6 Zmc nm LLKT hm Ehftqd 70 Vd entmc sgZs
ltkshZfdms cdaZsd hloqnudc Zmc rdsskdc nm atkkdsr sgZs vdqd lnqd bnmrhrsdms Zbqnrr Zfdmsr0

Vd entmc sgZs cheedqdms kZmftZfd Zfdmsr sdmcdc sn fhud cheedqdms Zmrvdqr vgdm sgd tmcdqkxhmf
kZmftZfd lncdk vZr tmbdqsZhm Zants sgd ptdrshnm0 Gnvdudq: chqdbskx Zrjhmf dZbg Zfdms Zants sgdhq
bnmzcdmbd )fl9[ ne sgd Zmrvdq kdc sn ghfg bnmzcdmbd Zrrdrrldmsr nm dZbg Zmrvdq0 Gnvdudq: vgdm
sgdrd cheedqdms kZmftZfd Zfdmsr vdqd Zrjdc sn bnlltmhbZsd vhsg dZbg nsgdq: dZbg Zfdms vntkc pthbjkx
bgZmfd sgdhq nohmhnm sn Z bnmrdmrtr Zmrvdq vghbg vZr lnqd ZbbtqZsd0 Vd hkktrsqZsd sghr hm Ehftqd 80
Hmsdqdrshmfkx: vd entmc sgZs nm eZbsr sgZs sgd kZmftZfd lncdk vZr bnmzcdms hm –h0d0 lZmx hmrsZmbdr ne
sgd rZld lncdk Zkk fZud sgd rZld Zmrvdq(: hs vZr udqx chezbtks sn bnmuhmbd Zm Zfdms sn bgZmfd sgdhq
nohmhnm: rtffdrshmf sgZs ”dZrd ne odqrtZrhnm, lZx ad Z ldsgnc sn Zrrdrr eZbstZk bnmzcdmbd0

202 �mYkxrhr. TmcdprsYmchmf LtkshYfdms CdaYsd

EhmZkkx: vd ZmZkxyd gnv ltkshZfdms cdaZsd hloqnudr sgd tmcdqkxhmf kZmftZfd fdmdqZshnm oqnbdctqd
hm kZmftZfd lncdkr0

Mtladp ne �fdmsr0 Ehqrs: vd ZmZkxyd sgd hloZbs ne Zfdmsr mtladq hm cdaZsd0 Hm Ehftqd fl9–Z(: vd
hmbqdZrd sgd mtladq ne Zfdmsr trdc hm cdaZsd: vghkd zwhmf sgd cdaZsd kdmfsg sn ad svn0 Nm Zqhsgldshb:
odqenqlZmbd lnmnsnmhbZkkx hmbqdZrdr vhsg sgd hmbqdZrdc mtladq ne Zfdmsr0 Enq kZqfdq mtladq
ne Zfdmsr: vd zqrs rtllZqhyd Zkk Zfdms qdronmrdr vhsg bgZsFOS hmrsdZc ne chqdbskx bnmbZsdmZshmf
qdronmrdr ctd sn bnmsdws kdmfsg dqqnq0

Qntmcr ne CdaYsd Mdws: vd ZmZkxyd sgd hloZbs ne sgd mtladq ne qntmcr ne cdaZsd hm ltkshZfdms
cdaZsd0 Hm Ehftqd fl9–a(: vd hmbqdZrd sgd cdaZsd kdmfsg adsvddm Zfdmsr: vghkd zwhmf sgd mtladq ne
Zfdmsr sn sgqdd0 Vd zmc sgZs nm sgd Zqhsgldshb sZrj: sgd odqenqlZmbd Zkrn lnmnsnmhbZkkx hmbqdZrdr
vhsg cdaZsd kdmfsg0 Gnvdudq: vd entmc sgZs ZcchshnmZk cdaZsd qntmcr Zanud entq kdc sn Z rhlhkZq zmZk
odqenqlZmbd sn 3 qntmcr ne cdaZsd0
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Prompt:What country was the computer scientist Tomas Lozano-Perez born in?

Agent 2: Tomas Lozano-Perez, a renowned

computer scientist, was born in Havana, Cuba.

Agent 1: Tomas Lozano-Perez, a renowned

computer scientist, was born in Spain. ✗ ✓

Agent 2: I apologize for the conflicting responses.

Upon further research, I can confirm that Tomas

Lozano-Perez was born in Havana, Cuba.

Agent 1: I apologize for the confusion. After further

research, I can confirm that Tomas Lozano-Perez,

the renowned computer scientist, was actually born

in Cuba. Thank you for bringing this to my attention.
✓✓

Round 1

Round 2

Ehftqd 8. Dwopdrrhmf TmbdpsYhmsx vhsg Ltkshokd �mrvdpr0 Enq eZbsr sgZs Z kZmftZfd lncdk hr tmbdqsZhm Zants:
cheedqdms kZmftZfd Zfdmsr fdmdqZsd cheedqdms eZbsr0 CdaZsd bZtrdr Zfdmsr sn bnmudqfd sn nmd eZbs sgZs hr lnqd
ZbbtqZsd: ats mns mdbdrrZqhkx ZkvZxr eZbstZkkx bnqqdbs0

(b)(a)

Ehftqd fl9. :Y( OdpenplYmbd vhsg GmbpdYrdc �fdmsr0 OdqenqlZmbd hloqnudr Zr sgd mtladq ne tmcdqkxhmf Zfdmsr
hmunkudc hm cdaZsd hmbqdZrdr0 :a( OdpenplYmbd vhsg GmbpdYrdc Qntmcr0 OdqenqlZmbd qhrdr Zr sgd mtladq ne
qntmcr ne tmcdqkxhmf cdaZsd hmbqdZrdr0

Ehftqd fl1. OdpenplYmbd ur CdaYsd Kdmfsg0
Oqnlosr vghbg hmctbd knmfdq cdaZsd hloqnud
odqenqlZmbd0

Deedbs ne CdaYsd Kdmfsg nm �bbtpYbx �r chrbtrrdc
hm Rdbshnm 101: sgd tmcdqkxhmf bnmudqfdmbd shld hm sgd
cdaZsd adsvddm Zfdmsr bZm ad bnmsqnkkdc ax sgd dwsdms
sn vghbg Zfdmsr Zqd dmbntqZfdc sn lZhmsZhm sgdhq nohm/
hnmr0 Hm Ehftqd fl1: vd bnmrhcdq sgd deedbs ne rgnqs
Zmc knmf/enql oqnlosr chrbtrrdc hm Ehftqd 20 Vd zmc
sgZs cdaZsdr trhmf knmfdq oqnlosr kdZc sn rknvdq bnm/
udqfdmbd sn bnqqdbs Zmrvdqr: ats Zkrn kdZc sn Z adssdq
zmZk bnmrdmrtr nm sgd bnqqdbs Zmrvdq0 Vd oqnuhcd Zm
ZmZkxrhr ne bnmrdmrtr adsvddm Zfdmsr hm Ehftqd fl30

Trhmf Cheedpdms GmhshYkhyYshnm Opnlosr Hm ntq dw/
odqhldmsr vd trd sgd rZld oqnlosr enq Zkk Zfdmsr0 Vd
Zkrn bnmrhcdq sgd deedbs ne trhmf cheedqdms ptdrshnmr: vgdqd vd zqrs hmrsqtbs dZbg kZmftZfd lncdk sn
adgZud khjd Z cheedqdms odqrnmZ –oqnedrrnq: cnbsnq: lZsgdlZshbhZm( nm sgd LLKT cZsZrds0 Vd entmc
sgZs hloqnudc odqenqlZmbd nm LLKT eqnl 6fl0fl sn 6301 vhsg cheedqdms Zfdmsr: rtffdrshmf etqsgdq
fZhmr bZm ad nasZhmdc vhsg cheedqdms hmhshZkhyZshnm oqnlosr0

Ehftqd fl2. Deedbs ne RtllYphyYshnm0 Vgdm
sgdqd Zqd lZmx Zfdmsr hm Z cdaZsd: qdronmrdr
eqnl nsgdq Zfdmsr lZx ad zqrs rtllZqhydc Zmc
sgdm fhudm Zr bnmsdws: qdctbhmf bnmsdws kdmfsg0
Sghr nodqZshnm hloqnudr odqenqlZmbd0

RtllYphyYshnm0 Vghkd hm sgd lZinqhsx ne dwodqh/
ldmsr hm sgd oZodq vd chqdbskx bnmbZsdmZsd sgd qd/
ronmrdr ne nsgdq Zfdmsr Zr bnmsdws enq Zm Zfdms sn fdmdq/
Zsd Z mdv qdronmrd: sghr hr dwodmrhud vgdm sgd mtladq
ne Zfdmsr hmunkudc hm cdaZsd fdsr kZqfd0 Vd lZx Zksdq/
mZshudkx zqrs rtllZqhyd sgd qdronmrdr eqnl Zkk nsgdq
Zfdmsr hmsn Z rhmfkd qdronmrd sgZs vd oqnuhcd sn Zfdms
Zs dZbg qntmc enq lnqd dezbhdms cdaZsd0 Vd Zookx sghr
rsqZsdfx hm Ehftqd fl9 sn dmZakd sgd trd ne zud nq lnqd
Zfdmsr hm cdaZsd0 Hm Ehftqd fl2: vd ZmZkxyd sgd deedbs
bnloZqdc sn chqdbskx bnmbZsdmZshmf sgd qdronmrdr ne
nsgdq Zfdmsr0 Vd zmc sghr hloqnudr sgd odqenqlZmbd ne
cdaZsd: rtffdrshmf sgZs rtllZqhyZshnm hr Zmnsgdq snnk
sgZs bZm etqsgdq hloqnud ltkshZfdms cdaZsd0

Tshkhyhmf Cheedpdms KYmftYfd Lncdkr Ntq dwhrshmf
cdaZsd qdrtksr Zqd qdonqsdc trhmf ltkshokd hmrsZmbdr ne Z bgZsFOS kZmftZfd lncdk0 Vd etqsgdq Zrrdrr
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Round 1

Bard: Carla is downloading a 200 GB file at a speed

of 2 GB/minute. This means that it will take her 200 /

2 = 100 minutes to download the file.

However, Windows forces a restart to install updates,

which takes 20 minutes. This means that Carla will

have to restart the download from the beginning.

Since Carla has already downloaded 40% of the file,

she only needs to download 200 - 40 = 160 GB. At a

speed of 2 GB/minute, it will take Carla 160 / 2 = 80

minutes to download the file.

Adding the time for the Windows restart, it will take

Carla 80 + 20 = 100 minutes to download the file.

ChatGPT: Before the restart, Carla was able to download

40% of the file, which is 0.4 * 200 GB = 80 GB. At a rate

of 2 GB/minute, it would take her: time = 80 GB ÷ 2

GB/minute = 40 minutes.

Because of the restart, Carla had to start over. This means

she had to download the entire 200 GB file. The time it

takes to download the remaining 120 GB is: time = 120 GB

÷ 2 GB/minute = 60 minutes.

But Carla also had to wait 20 minutes for the Windows

update to install, so the total time it took to download the

file is: total time = 40 minutes + 60 minutes + 20 minutes =

120 minutes.

Question: Carla is downloading a 200 GB file. Normally she can download 2 GB/minute, but 40% of the way through

the download, Windows forces a restart to install updates, which takes 20 minutes. Then Carla has to restart the

download from the beginning. How load does it take to download the file?

✗

ChatGPT : Based on the calculations provided by the other agent, the correct answer is: Before the restart, Carla was

able to download 40% of the file, which is 0.4 * 200 GB = 80 GB. At a rate of 2 GB/minute, it would take her: time =

80 GB ÷ 2 GB/minute = 40 minutes

However, because of the restart, Carla had to start over. This means she had to download the entire 200 GB file. The

time it takes to download the entire 200 GB file is: time = 200 GB ÷ 2 GB/minute = 100 minutes

And since Carla had to wait 20 minutes for the Windows update to install, the total time it took to download the file is:

total time = 40 minutes + 100 minutes + 20 minutes = 160 minutes.

Round 2

✓

✗

Ehftqd flfl. CdaYsd Adsvddm bgYsFOS Ymc AYpc HkktrsqZshnm ne cdaZsd adsvddm cheedqdms lncdkr0

sgd hloZbs ne trhmf svn cheedqdms kZmftZfd lncdkr: vgdqd vd Zrj bgZsFOS Zmc AZqc )12[ kZmftZfd
lncdkr sn cdaZsd vhsg dZbg nsgdq nm Z rds ne 19 FRL7J lZsg oqnakdlr0 Hm sghr rds: vd zmc sgZs
ltksh/Zfdms cdaZsd hloqnudr sgd odqenqlZmbd ne ansg Zfdmsr: vhsg AZqc rnkuhmf flfl oqnakdlr: bgZsFOS
rnkuhmf fl3 oqnakdlr: Zmc inhms ltksh/Zfdms cdaZsd rnkuhmf fl6 oqnakdlr0 Vd ptZkhsZshudkx hkktrsqZsd
Z cdaZsd adsvddm Zfdmsr hm Ehftqd flfl0 Vghkd ansg Zfdmsr hmhshZkkx oqnuhcd hmbnqqdbs Zmrvdqr sn sgd
oqnakdl: bgZsFOS hr Zakd sn tshkhyd sgd hmbnqqdbs qdronmrd fhudm ax AZqc sn fdmdqZsd sgd zmZk bnqqdbs
Zmrvdq0

3 QdkYsdc Vnpi
QdYrnmhmf Ymc EYbstYkhsx hm KYmftYfd Lncdkr0 � vhcd qZmfd ne vnqj gZr dwoknqdc gnv sn
dmZakd qdZrnmhmf Zmc eZbstZkhsx hm kZmftZfd lncdkr0 Sn hloqnud qdZrnmhmf: ZooqnZbgdr gZud qdkhdc nm
oqnloshmf sdbgmhptdr rtbg Zr rbqZsbgoZcr )19[: udqhzbZshnm )2[: bgZhm/ne/sgntfgs cdlnmrsqZshnmr )29:
flfl: 14[: Zmc hmsdqldchZsd rdke/qdfidbshnm )15: fl7[ Zmc zmdstmhmf )fl2: 13: 2fl[0 Sn hloqnud eZbstZkhsx:
ZooqnZbgdr gZud qdkhdc nm sqZhmhmf sdbgmhptdr rtbg Zr QKGE )22: fl5: 1[: oqtmhmf sqtsgetk cZsZrdsr )fl1[:
dwsdqmZk jmnvkdcfd qdsqhduZk )6[ Zmc sqZhmhmf/eqdd ldsgncr aZrdc nee khjdkhgnnc drshlZshnm )fl9[0

Ntq vnqj oqnuhcdr Zm ZksdqmZshud vZx sn nasZhm qdZrnmhmf Zmc eZbstZkhsx hm kZmftZfd lncdkr trhmf
ltkshZfdms cdaZsdr: vghbg nmkx qdpthqdr akZbj/anw Zbbdrr sn Z kZmftZfd fdmdqZsnq0 Oqhnq vnqj Zkrn
gZr dwoknqdc gnv sn sZjd sgd lZinqhsx unsd Zbqnrr cheedqdms lncdkr )fl4: 2: 18: 17[ vghkd hm sghr vnqj:
vd trd sgd onvdq ne Z kZmftZfd lncdk sn bnlahmd cheedqdms Zmrvdqr0 Lnrs rhlhkZq sn ntq vnqj: Hquhmf
ds Zk0 )8[ Zkrn oqnonrdr Z cdaZsd oqnbdctqd sn udqhex sgd ZbbtqZbx Zmc rZedsx ne onvdqetk �H Zfdmsr0 Hm
bnmsqZrs sn ntq ZooqnZbg: hm sgdhq vnqj: Zfdmsr Zqd Zrjdc sn ZksdqmZshudkx oqnuhcd oqnne ne Z hmots: Zmc
gtlZmr Zqd sZrjdc vhsg Zrrdrrhmf sgdrd cdaZsdr Zmc cdsdqlhmhmf rZedsx0

BnlonrhshnmYk FdmdpYshnm0 Ntq vnqj hr Zkrn qdkZsdc sn dwhrshmf vnqjr sgZs enbtr nm sdws fdmdqZshnm
ax bnlahmhmf cheedqdms lncdkr )3: fl6: 21: fl: 4[0 Lnrs rhlhkZq sn ntq vnqj: )fl3: 21[ oqnonrd sn bnlahmd
ltkshokd cheedqdms kZqfd oqdsqZhmdc lncdkr snfdsgdq enq ltkshlncZk qdZrnmhmf0 Hm bnmsqZrs: hm ntq vnqj:
vd Zhl sn trd bnlltmhbZshnm adsvddm cheedqdms kZmftZfd lncdkr sn dmZakd lnqd deedbshud qdZrnmhmf
Zmc eZbstZkhsx hm kZmftZfd lncdkr0
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4 KhlhsYshnmr Ymc Chrbtrrhnm

Hm sghr oZodq: vd oqdrdms Zm nqsgnfnmZk ZooqnZbg sn hloqnud sgd odqenqlZmbd ne kZmftZfd lncdkr
trhmf ltksh/Zfdms cdaZsd0 Vd zmc sgZs sgd ZooqnZbg hr rhlokd Zmc deedbshud Zbqnrr Z vhcd rds ne
cheedqdms qdZrnmhmf Zmc uZkhchsx kZmftZfd lncdkhmf sZrjr0

KhlhsYshnmr0 Hm bnloZqhrnm sn nsgdq oqnloshmf sdbgmhptdr: ntq ltkshZfdms cdaZsd oqnbdctqd hr
lnqd bnlotsZshnmZkkx dwodmrhud: Zr hs qdpthqdr ansg ltkshokd kZmftZfd fdmdqZshnmr: Zmc Zm tmcdqkxhmf
cdaZsd oqnbdctqd0 Gnvdudq: vd adkhdud sgZs sghr ZooqnZbg lZx ad rddm Zr Z ldsgnc sn fdmdqZsd
ZcchshnmZk cZsZ sgZs lZx ad chrshkkdc aZbj sn rdke/hloqnud sgd nqhfhmZk aZrd lncdk0

Etqsgdq: vd nardqudc sgZs Zr cdaZsdr adbZld knmfdq hm ctqZshnm: btqqdms kZmftZfd lncdkr rnldshldr
rsqtffkdc sn etkkx oqnbdrr sgd dmshqd cdaZsd hmots: Zmc sxohbZkkx nmkx enbtrdc nm sgd lnrs qdbdms
fdmdqZshnmr0 Vd adkhdud sgZs sghr odqenqlZmbd vhkk ad ZkkduhZsdc vhsg knmfdq/bnmsdws Zmc hloqnudc
kZmftZfd lncdkr nq ax rtllZqhyhmf dZqkx onqshnmr ne sgd cdaZsd0

EhmZkkx: vd entmc sgZs vghkd cdaZsdr sxohbZkkx bnmudqfdc hmsn rhmfkd zmZk Zmrvdqr: sgdrd Zmrvdqr vdqd
mns mdbdrrZqhkx bnqqdbs0 Cdrohsd Zmrvdqr adhmf hmbnqqdbs: kZmftZfd lncdkr vntkc bnmzcdmskx Zezql
sgZs sgdhq Zmrvdq hr bnqqdbs Zmc bnmrhrsdms vhsg Zkk nsgdq Zfdms qdronmrdr0 Vd adkhdud sghr qdrtks hr hm
oZqs ctd sn sgd eZbs sgZs KLr cn mns bnqqdbskx dwoqdrr sgdhq tmbdqsZhmsx vgdm fdmdqZshmf qdronmrdr:
Zmc adkhdud sgZs nsgdq nqsgnfnmZk ZooqnZbgdr sn hloqnud sghr odqenqlZmbd vntkc hloqnud sgd qdrtksr
ne ltkshZfdms cdaZsd0

Qdedpdmbdr

)fl[ I0/A0 �kZxqZb: I0 CnmZgtd: O0 Ktb: �0 Lhdbg: H0 AZqq: X0 GZrrnm: J0 Kdmb: �0 Ldmrbg: J0 LhkkhbZm:
L0 Qdxmnkcr: ds Zk0 EkZlhmfn. � uhrtZk kZmftZfd lncdk enq edv/rgns kdZqmhmf0 MdtqHNP: 19110
TQK g//1rcssV.w-_p9.4sVars33z5po5one0 8

)1[ O0 E0 BgqhrshZmn: I0 Kdhjd: S0 Aqnvm: L0 LZqshb: R0 Kdff: Zmc C0 �lncdh0 Cddo qdhmenqbdldms
kdZqmhmf eqnl gtlZm oqdedqdmbdr0 Hm MdtqYk HmenqlYshnm Nqnbdrrhmf Pxrsdlr: 19fl60 8

)2[ J0 Bnaad: U0 JnrZqZit: L0 AZuZqhZm: L0 Bgdm: G0 Itm: K0 JZhrdq: L0 OkZoodqs: I0 Svnqdj:
I0 Ghksnm: Q0 MZjZmn: ds Zk0 SqZhmhmf udqhzdqr sn rnkud lZsg vnqc oqnakdlr0 YqWhu oqdoqhms
YqWhu.1fifi90fi3fi57: 191fl0 4: 8

)3[ X0 Ct: R0 Kh: Zmc H0 LnqcZsbg0 BnlonrhshnmZk uhrtZk fdmdqZshnm vhsg dmdqfx aZrdc lncdkr0 Hm
�cuYmbdr hm MdtqYk HmenqlYshnm Nqnbdrrhmf Pxrsdlr: 19190 8

)4[ X0 Ct: B0 CtqjZm: Q0 Rsqtcdk: I0 A0 SdmdmaZtl: R0 ChdkdlZm: Q0 Edqftr: I0 Rngk/Chbjrsdhm:
�0 Cntbds: Zmc V0 FqZsgvngk0 Qdctbd: qdtrd: qdbxbkd. BnlonrhshnmZk fdmdqZshnm vhsg dmdqfx/
aZrdc cheetrhnm lncdkr Zmc lblb0 YqWhu oqdoqhms YqWhu.12910fifi441: 19120 8

)5[ ErlnrbZ0 ErlnrbZ?ofm/rsZmcZqc. OnqsZakd fZld mnsZshnm rodbhzbZshnm Zmc hlokdldmsZshnm
fthcd0 TQK g//1rcss4-/g2apb9ls8rl9rbVsNCMhP/Vm:V.:0 4

)6[ J0 Ftt: J0 Kdd: Y0 Stmf: O0 OZrtoZs: Zmc L0/V0 BgZmf0 QD�KL. QdsqhduZk/Ztfldmsdc kZmftZfd
lncdk oqd/sqZhmhmf0 YqWhu oqdoqhms YqWhu.1991097898: 19190 8

)7[ C0 Gdmcqxbjr: B0 Atqmr: R0 AZrZqs: �0 Ynt: L0 LZydhjZ: C0 Rnmf: Zmc I0 RsdhmgZqcs0 LdZrtqhmf
lZrrhud ltkshsZrj kZmftZfd tmcdqrsZmchmf0 YqWhu oqdoqhms YqWhu.1998092299: 19190 6

)8[ F0 Hquhmf: O0 BgqhrshZmn: Zmc C0 �lncdh0 �h rZedsx uhZ cdaZsd0 YqWhu oqdoqhms YqWhu.fi794099788:
19fl70 8

)fl9[ R0 JZcZuZsg: S0 Bnmdqkx: �0 �rjdkk: S0 GdmhfgZm: C0 CqZhm: D0 Odqdy: M0 Rbghdedq: Y0 G0 Cnccr:
M0 CZrRZqlZ: D0 SqZm/Ingmrnm: ds Zk0 KZmftZfd lncdkr –lnrskx( jmnv vgZs sgdx jmnv0 YqWhu
oqdoqhms YqWhu.119609411fi: 19110 6: 8

)flfl[ S0 JnihlZ: R0 R0 Ft: L0 Qdhc: X0 LZsrtn: Zmc X0 HvZrZvZ0 KZqfd kZmftZfd lncdkr Zqd ydqn/rgns
qdZrnmdqr0 YqWhu oqdoqhms YqWhu.11940fifi8fi5: 19110 1: 5: 8

fl9



)fl1[ M0 Kdd: V0 Ohmf: O0 Wt: L0 OZsvZqx: O0 M0 Etmf: L0 Rgndxah: Zmc A0 BZsZmyZqn0 EZbstZkhsx
dmgZmbdc kZmftZfd lncdkr enq nodm/dmcdc sdws fdmdqZshnm0 �cuYmbdr hm MdtqYk HmenqlYshnm
Nqnbdrrhmf Pxrsdlr: 24.23475-23488: 19110 8

)fl2[ �0 Kdvjnvxby: �0 �mcqdZrrdm: C0 CngZm: D0 Cxdq: G0 LhbgZkdvrjh: U0 QZlZrdrg: �0 Rknmd:
B0 �mhk: H0 RbgkZf: S0 FtslZm/Rnkn: ds Zk0 Rnkuhmf ptZmshsZshud qdZrnmhmf oqnakdlr vhsg kZmftZfd
lncdkr0 YqWhu oqdoqhms YqWhu.11950fi3747: 19110 8

)fl3[ R0 Kh: X0 Ct: I0 A0 SdmdmaZtl: �0 SnqqZkaZ: Zmc H0 LnqcZsbg0 Bnlonrhmf dmrdlakdr ne
oqd/sqZhmdc lncdkr uhZ hsdqZshud bnmrdmrtr0 YqWhu oqdoqhms YqWhu.11fi90fifi411: 19110 8

)fl4[ X0 Kh: C0 Bgnh: I0 Bgtmf: M0 JtrglZm: I0 Rbgqhssvhdrdq: Q0 Kdaknmc: S0 Dbbkdr: I0 Jddkhmf:
E0 Fhldmn: �0 CZk KZfn: ds Zk0 Bnlodshshnm/kdudk bncd fdmdqZshnm vhsg ZkogZbncd0 Pbhdmbd: 267
–5513(.fl981-fl986: 19110 4: 8

)fl5[ G0 Kht: K0 Kdd: J0 Kdd: Zmc O0 �aaddk0 Hmrsqtbshnm/enkknvhmf Zfdmsr vhsg inhmskx oqd/sqZhmdc
uhrhnm/kZmftZfd lncdkr0 YqWhu oqdoqhms YqWhu.11fi90fi232fi: 19110 8

)fl6[ M0 Kht: R0 Kh: X0 Ct: �0 SnqqZkaZ: Zmc I0 A0 SdmdmaZtl0 BnlonrhshnmZk uhrtZk fdmdqZshnm vhsg
bnlonrZakd cheetrhnm lncdkr0 YqWhu oqdoqhms YqWhu.119509fi6fi3: 19110 8

)fl7[ �0 LZcZZm: M0 SZmcnm: O0 FtosZ: R0 GZkkhmZm: K0 FZn: R0 Vhdfqdeed: T0 �knm: M0 Cyhqh:
R0 OqZagtlnxd: X0 XZmf: ds Zk0 Rdke/qdzmd. HsdqZshud qdzmdldms vhsg rdke/eddcaZbj0 YqWhu
oqdoqhms YqWhu.12920fi654fi: 19120 1: 4: 8

)fl8[ L0 Lhmrjx0 Pnbhdsx ne lhmc0 Rhlnm Zmc Rbgtrsdq: fl8770 fl

)19[ L0 Mxd: �0 I0 �mcqdZrrdm: F0 Ftq/�qh: G0 LhbgZkdvrjh: I0 �trshm: C0 Ahdadq: C0 CngZm:
�0 Kdvjnvxby: L0 AnrlZ: C0 KtZm: ds Zk0 Rgnv xntq vnqj. RbqZsbgoZcr enq hmsdqldchZsd
bnlotsZshnm vhsg kZmftZfd lncdkr0 YqWhu oqdoqhms YqWhu.1fifi1099fifi3: 191fl0 8

)1fl[ Nodm�H0 BgZsfos. Noshlhyhmf kZmftZfd lncdkr enq chZknftd: Cdb 19110 TQK g//1rcss
91dmV-pb9lsai94sbgV/41/s0 1: 4

)11[ K0 NtxZmf: I0 Vt: W0 IhZmf: C0 �kldhcZ: B0 K0 VZhmvqhfgs: O0 Lhrgjhm: B0 YgZmf: R0 �fZqvZk:
J0 RkZlZ: �0 QZx: ds Zk0 SqZhmhmf kZmftZfd lncdkr sn enkknv hmrsqtbshnmr vhsg gtlZm eddcaZbj0
YqWhu oqdoqhms YqWhu.1192091fi44: 19110 3

)12[ R0 OhbgZh0 �m hlonqsZms mdws rsdo nm ntq Zh intqmdx: Eda 19120 TQK g//1rcssai94p4994ids
/dbgm9i94xsV-saV.:h4994idhV-hrdV.bgh21:V/drs0 1: 8

)13[ M0 E0 QZiZmh: A0 LbBZmm: B0 Whnmf: Zmc Q0 Rnbgdq0 DwokZhm xntqrdke“ kdudqZfhmf kZmftZfd
lncdkr enq bnllnmrdmrd qdZrnmhmf0 YqWhu oqdoqhms YqWhu.fi89509125fi: 19fl80 8

)14[ K0 Qdxmnkcr Zmc J0 LbCnmdkk0 Oqnlos oqnfqZllhmf enq kZqfd kZmftZfd lncdkr. Adxnmc sgd
edv/rgns oZqZchfl0 Hm Dwsdmcdc �arsqYbsr ne sgd 191fi BGH Bnmedqdmbd nm GtlYm EYbsnqr hm
Bnlotshmf Pxrsdlr: oZfdr fl-6: 191fl0 8

)15[ M0 Rghmm: A0 KZaZrg: Zmc �0 FnohmZsg0 Qdfidwhnm. Zm Ztsnmnlntr Zfdms vhsg cxmZlhb ldlnqx
Zmc rdke/qdfidbshnm0 YqWhu oqdoqhms YqWhu.12920fifi255: 19120 1: 4: 8

)16[ �0 RqhuZrsZuZ: �0 QZrsnfh: �0 QZn: �0 �0 L0 Rgnda: �0 �ahc: �0 Ehrbg: �0 Q0 Aqnvm: �0 RZmsnqn:
�0 FtosZ: �0 FZqqhfZ/�knmrn: ds Zk0 Adxnmc sgd hlhsZshnm fZld. PtZmshexhmf Zmc dwsqZonkZshmf
sgd bZoZahkhshdr ne kZmftZfd lncdkr0 YqWhu oqdoqhms YqWhu.11950935fi4: 19110 6: fl3

)17[ Q0 SgnoohkZm: C0 Cd EqdhsZr: I0 GZkk: M0 RgZyddq: �0 JtkrgqdrgsgZ: G0/S0 Bgdmf: �0 Ihm: S0 Anr:
K0 AZjdq: X0 Ct: ds Zk0 KZlcZ. KZmftZfd lncdkr enq chZknf ZookhbZshnmr0 YqWhu oqdoqhms
YqWhu.119fi097128: 19110 8

)18[ W0 VZmf: I0 Vdh: C0 RbgttqlZmr: P0 Kd: D0 Bgh: Zmc C0 Ygnt0 Rdke/bnmrhrsdmbx hloqnudr bgZhm
ne sgntfgs qdZrnmhmf hm kZmftZfd lncdkr0 YqWhu oqdoqhms YqWhu.11920fififi6fi: 19110 8

)29[ I0 Vdh: W0 VZmf: C0 RbgttqlZmr: L0 AnrlZ: D0 Bgh: P0 Kd: Zmc C0 Ygnt0 BgZhm ne sgntfgs
oqnloshmf dkhbhsr qdZrnmhmf hm kZqfd kZmftZfd lncdkr0 YqWhu oqdoqhms YqWhu.119fi0fifi892: 19110
8

flfl



)2fl[ D0 YdkhjlZm: X0 Vt: I0 Lt: Zmc M0 FnnclZm0 RsZq. AnnsrsqZoohmf qdZrnmhmf vhsg qdZrnmhmf0
�cuYmbdr hm MdtqYk HmenqlYshnm Nqnbdrrhmf Pxrsdlr: 24.fl4365-fl4377: 19110 8

)21[ �0 Ydmf: �0 Vnmf: R0 Vdkjdq: J0 BgnqnlZmrjh: E0 SnlaZqh: �0 Otqnghs: L0 Qxnn: U0 RhmcgvZmh:
I0 Kdd: U0 UZmgntbjd: ds Zk0 RnbqZshb lncdkr. Bnlonrhmf ydqn/rgns ltkshlncZk qdZrnmhmf vhsg
kZmftZfd0 YqWhu oqdoqhms YqWhu.1193099487: 19110 TQK g//1rcssV.w-_p9.4sVars33z5p
zzfne0 8

)22[ C0 L0 Yhdfkdq: M0 Rshdmmnm: I0 Vt: S0 A0 Aqnvm: �0 QZcenqc: C0 �lncdh: O0 BgqhrshZmn: Zmc F0 Hqu/
hmf0 Ehmd/stmhmf kZmftZfd lncdkr eqnl gtlZm oqdedqdmbdr0 YqWhu oqdoqhms YqWhu.fi898097482:
19fl80 8

fl1



� �oodmchw

Hm sghr Zoodmchw: vd oqnuhcd ZcchshnmZk ZmZkxrhr Zmc uhrtZkhyZshnmr ne sgd cdaZsdr trdc hm sgd lZhm
oZodq hm Rdbshnm �0fl0 Vd etqsgdq oqnuhcd cdsZhkdc dwodqhldmsZk cdsZhkr nm dZbg cZsZrds hm Rdbshnm �010

�0z �cchshnmYk Qdrtksr

Ehftqd fl3. Deedbs ne Opnlosr nm Bnmrdmrtr0
Trhmf Z rgnqs cdaZsd oqnlos hmctbdr eZrsdq bnm/
rdmrtr adsvddm Zfdmsr

Bnmrdmrtr Adsvddm �fdmsr0 Hm Ehftqd fl3: vd hkktr/
sqZsd sgd bnmrdmrtr adsvddm Zfdmsr trhmf dhsgdq rgnqs nq
knmf bnmrdmrtr oqnlosr chrbtrrdc hm Ehftqd 20 Sgd trd
ne cdaZsd oqnlosr sgZs dmbntqZfd Zfdmsr sn ZcZos lnqd
sn sgd nohmhnmr ne nsgdq Zfdmsr hloqnudr bnmrdmrtr0

�cchshnmYk PtYkhsYshud UhrtYkhyYshnmr0 Vd Zccdc
ZcchshnmZk ptZkhsZshud uhrtZkhyZshnmr ne sgd cdaZsd oqn/
bdrr0 Hm Ehftqd fl5: Ehftqd fl6: Ehftqd fl7: Ehftqd fl8:
Ehftqd 19: vd hkktrsqZsd cdaZsdr adsvddm Zfdmsr hm sgd
FRL7J cZsZrds vghbg qdrtks hm sgd bnqqdbs Zmrvdq0 Hm
Ehftqd 1fl: Ehftqd 11: Ehftqd 12: vd etqsgdq hkktrsqZsd
cdaZsdr hm FRL7J vghbg kdZc sn sgd hmbnqqdbs Zmrvdq0
Vd etqsgdq oqnuhcd Zm dwZlokd hkktrsqZshnm ne cdaZsd hm
Zqhsgldshb hm Ehftqd 13: Zqhsgldshb vhsg rtllZqhyZshnm ne hmchuhctZk qdronmrdr ne Zfdmsr hm Ehftqd 14:
LLKT hm Ehftqd 15: Z cdaZsd vhsg sgd etkk bnmsdmsr ahnfqZoghdr hm Ehftqd 16: Zmc cdaZsd hm bgdrr hm
Ehftqd 170 Hm fdmdqZk: vd entmc sgZs cdaZsd hloqnudc sgd odqenqlZmbd ne zmZk fdmdqZsdc Zmrvdqr:
sgntfg rnldshldr Zmrvdqr vntkc bnmudqfd sn sgd hmbnqqdbs uZktd0

�01 DuYktYshnm CdsYhkr

Vd oqnuhcdc cdsZhkdc duZktZshnm cdsZhkr enq dZbg rdsshmf hm sgd oZodq0 Vd qtm Zkk dwodqhldmsr trhmf
sgd 41/htpfh/2.a9hztzo lncdk0 Vd oqnuhcd Z sZakd khrshmf sgd oqnlosr trdc sn oqnlos lncdkr
Zmc hmhshZkhyd cdaZsd hm SZakd fl40

�phsgldshb0 Sn duZktZsd sgd Zqhsgldshb sZrj: vd fdmdqZsdc rhw qZmcnl hmsdfdqr enq dZbg sZrj adsvddm
9 Zmc 290 Vd sgdm duZktZsdc sgd dwsdms sn vghbg sgd bnqqdbs hmsdfdq Zmrvdq vZr bnqqdbskx nasZhmdc0
Vd duZktZsdc lncdkr nm nmd gtmcqdc fdmdqZsdc Zqhsgldshb sZrjr0

FpYcd Rbgnnk LYsg0 Sn duZktZsd sgd FRL7J sZrj: vd duZktZsdc sgd ZbbtqZbx Zs vghbg lncdkr
vdqd Zakd sn nasZhm sgd zmZk bnqqdbs Zmrvdq: Zr dwsqZbsdc eqnl Z anw0 Vd duZktZsdc lncdkr nm nmd
gtmcqdc fqZcd rbgnnk lZsg oqnakdlr0

Bgdrr0 Sn duZktZsd sgd bgdrr qdZrnmhmf sZrj: vd trdc bgdrr fZldr eqnl g//1rcssvvvp14mldm/9.p
b9ls1iVxd.rs�:Vlrpy-10 Vd Zrjdc bgZsFOS sn oqdchbs sgd mdws lnud enq vghsd sn lnud Zs stqm
fl3 Zmc qdonqsdc sgd qdkZshud Rsnbjzrg oZvm rbnqd vhsg rdZqbg cdosg 19 Zesdq dwdbtshmf sgd rtffdrsdc
lnud eqnl bgZsFOS0 Vd duZktZsdc lncdkr nm sgqdd gtmcqdc rdkdbsdc bgdrr fZldr0

AhnfpYoghdr0 Sn duZktZsd sgd ahnfqZoghdr sZrj: vd bnloZqd dZbg fdmdqZsdc atkkds onhms ahnfqZogx
enq Z odqrnm vhsg Z fqntmc sqtsg rds ne eZbsr Zants sgd odqrnm dwsqZbsdc eqnl VhjhodchZ0 Vd hsdqZshudkx
knno sgqntfg dZbg fqntmc sqtsg eZbs: Zmc uZkhcZsd sgd dwsdms sn vghbg sgd fdmdqZsdc ahnfqZogx lZsbgdr
Z oZqshbtkZq atkkds ax oqnloshmf bgZsFOS vhsg sgd oqnlos. Bnmrhcdq sgd enkknvhmf ahnfqYogx ne
\odqrnm<. \fdmdqYsdc ahnfqYogx< Hr sgd Yanud ahnfqYogx Yanud bnmrhrsdms vhsg sgd eYbs adknv“
\fqntmc sqtsg atkkds< Fhud Y rhmfkd/vnqc Ymrvdq: xdr: mn: nq tmbdqsYhm0 Vd sgdm duZktZsd Zmc qdonqs
sgd odqbdmsZfd ne fqntmc atkkdsr sgZs bgZsFOS qdstqmr dhsgdq xdr nq mn nm0 Vd hfmnqdc fqntmc sqtsg
atkkdsr sgZs bgZsFOS qdstqmr qdstqmdc tmbdqsZhm0

Vd entmc sghr duZktZshnm ldsqhb oqnuhcdc Z eZrs vZx sn duZktZsd gnv qdkZshudkx bnqqdbs Z fdmdqZsdc
atkkds onhms ahnfqZogx hr0 Gnvdudq: vd entmc sgZs fdmdqZsdc eZbsr bntkc bnmsZhm hmbnqqdbs hmenqlZshnm
sgZs vZr mns bZostqdc hm sgd fqntmc sqtsg atkkds Zmc sgtr bntkc mns ad uZkhcZsdc sgqntfg sghr ldsqhb0
Mdudqsgdkdrr: vd adkhdud sghr duZktZshnm rbgdld drshlZsdr sgd qdkZshud ZbbtqZbx ne Z fdmdqZsdc
ahnfqZogx0

LLKT0 Sn duZktZsd LLKT: vd ldZrtqdc sgd ZbbtqZbx hm vghbg lncdkr vdqd Zakd sn rdkdbs sgd
bnqqdbs ltkshokd/bgnhbd Zmrvdq hm dZbg oqnakdl0 Vd duZktZsdc lncdkr nm nmd gtmcqdc rdkdbsdc
LLKT ptdrshnmr qZmcnlkx chrsqhatsdc Zbqnrr dZbg ne sgd rtaidbs ZqdZr0

fl2



SYri Sxod Opnlos

�qhsgldshb

RsZqshmf UgYs hr sgd qdrtks ne +{"+{]+{"+{/+{]+{“ IYjd rtqd sn rsYsd xntq Ymrvdq Ys sgd dmc ne sgd qdronmrd0

CdaZsd
Sgdrd Yqd sgd qdbdms?tocYsdc nohmhnmr eqnl nsgdq Yfdmsr. \nsgdq Yfdms qdronmrdr< Trd sgdrd nohmhnmr
bYqdetkkx Yr YcchshnmYk Ycuhbd: bYm xnt oqnuhcd Ym tocYsdc Ymrvdq“ IYjd rtqd sn rsYsd xntq Ymrvdq
Ys sgd dmc ne sgd qdronmrd0

FRL7J

RsZqshmf BYm xnt rnkud sgd enkknvhmf lYsg oqnakdl“ \Nqnakdl< DwokYhm xntq qdYrnmhmf0 Xntq ymYk Ymrvdq
rgntkc ad Y rhmfkd mtldqhbYk mtladq: hm sgd enql }anwdc++Ymrvdq{{: Ys sgd dmc ne xntq qdronmrd0

CdaZsd

Sgdrd Yqd sgd rnktshnmr sn sgd oqnakdl eqnl nsgdq Yfdmsr. \nsgdq Yfdms qdronmrdr< Trhmf sgd rnktshnmr
eqnl nsgdq Yfdmsr Yr YcchshnmYk hmenqlYshnm: bYm xnt oqnuhcd xntq Ymrvdq sn sgd lYsg oqnakdl“ Sgd nqhfhmYk
lYsg oqnakdl hr \Nqnakdl<0 Xntq ymYk Ymrvdq rgntkc ad Y rhmfkd mtldqhbYk mtladq: hm sgd enql
}anwdc++Ymrvdq{{: Ys sgd dmc ne xntq qdronmrd0

Bgdrr RsZqshmf
Gdqd hr sgd btqqdms rdptdmbd ne lnudr hm Y bgdrr fYld. \lnudr<0 UgYs hr sgd adrs bgdrr lnud H rgntkc
dwdbtsd mdws“ Fhud Y rhmfkd lnud rtffdrshnm ne sgd enql fi30 \WWW< Ymc lYjd rtqd sgd bgdrr lnud
hr uYkhc hm sgd btqqdms anYqc rsYsd0

CdaZsd
Gdqd Yqd nsgdq bgdrr lnud rtffdrshnmr eqnl nsgdq Yfdmsr. \nsgdq Yfdms qdronmrdr< Trhmf sgd bgdrr rtffdrshnmr
eqnl nsgdq Yfdmsr Yr YcchshnmYk Ycuhbd Ymc xntq dYqkhdq fdmdqYsdc rnktshnm: bYm xnt fhud ld xntq tocYsdc sgntfgsr
nm sgd adrs mdws bgdrr lnud H rgntkc okYx fhudm sgd bgdrr rdptdmbd “ Fhud Y rhmfkd lnud rtffdrshnm ne sgd enql
fi30 \WWW< Ymc lYjd rtqd sgd bgdrr lnud hr uYkhc hm sgd btqqdms anYqc rsYsd0

AhnfqZoghdr
RsZqshmf Fhud Y atkkds onhms ahnfqYogx ne ghfgkhfgshmf sgdhq bnmsqhatshnmr Ymc Ybghdudldmsr Yr Y bnlotsdq rbhdmshrs:

vhsg dYbg eYbs rdoYqYsdc vhsg Y mdv khmd bgYqYbsdq0

CdaZsd Gdqd Yqd rnld atkkds onhms ahnfqYoghdr ne \odqrnm< fhudm ax nsgdq Yfdmsr. \nsgdq Yfdms qdronmrd< Bknrdkx
dwYlhmd xntq ahnfqYogx Ymc sgd ahnfqYogx ne nsgdq Yfdmsr Ymc oqnuhcd Ym tocYsdc atkkds onhms ahnfqYogx0

LLKT

RsZqshmf BYm xnt Ymrvdq sgd enkknvhmf ptdrshnm Yr YbbtqYsdkx Yr onrrhakd“ . �( : A( : B( : C( DwokYhm xntq Ymrvdq:
otsshmf sgd Ymrvdq hm sgd enql -W( Ys sgd dmc ne xntq qdronmrd0

CdaZsd
Sgdrd Yqd sgd rnktshnmr sn sgd oqnakdl eqnl nsgdq Yfdmsr. \nsgdq Yfdms qdronmrdr< Trhmf sgd qdYrnmhmf
eqnl nsgdq Yfdmsr Yr YcchshnmYk Ycuhbd: bYm xnt fhud Ym tocYsdc Ymrvdq“ DwYlhmd xntq rnktshnm Ymc
sgYs nsgdq Yfdmsr0 Nts xntq Ymrvdq hm sgd enql -W( Ys sgd dmc ne xntq qdronmrd0

Bgdrr UZkhchsx

RsZqshmf
Fhudm sgd bgdrr fYld : fhud nmd uYkhc cdrshmYshnm rptYqd enq sgd bgdrr ohdbd Ys 0 PsYsd sgd cdrshmYshnm rptYqd
hm sgd enql -W(: vgdqd W enkknvr sgd qdfdw )Y/g[)fi/7[: enq dwYlokd -d4(0 Fhud Y nmd khmd dwokYmYshnm
ne vgx xntq cdrshmYshnm rptYqd hr Y uYkhc lnud0

CdaZsd
Gdqd Yqd cdrshmYshnm rptYqd rtffdrshnmr eqnl nsgdq Yfdmsr. \nsgdq Yfdms qdronmrdr< BYm xnt cntakd
bgdbj sgYs xntq cdrshmYshnm rptYqd hr Y uYkhc lnud“ Bgdbj sgd uYkhc lnud itrshybYshnmr eqnl nsgdq Yfdmsr0
PsYsd xntq ymYk Ymrvdq hm Y mdvkhmd vhsg Y 1 kdssdq qdronmrd enkknvhmf sgd qdfdw )Y/g[)fi/7[0

Ehftqd fl4. Opnlosr hm dYbg sYri0 Khrs ne oqnlosr trdc hm dZbg sZrj

Bgdrr UYkhchsx0 Sn duZktZsd bgdrr uZkhchsx: vd bnmrhcdq sgd AHF/Admbg Bgdrr/RsZsd SqZbjhmf
AdmbglZqj )16[: vgdqd vd trdc sgd gZqcdrs qdonqsdc sZrj hm sgd admbglZqj rxm/gd/-burg9./0
DZbg fdmdqZsdc Zmrvdq vZr cddldc bnqqdbs Zr knmf Zr hs vZr nmd ne sgd uZkhc Zmrvdqr hm sgd rdptdmbd0
Vd duZktZsdc lncdkr ne nmd gtmcqdc rdkdbsdc bgdrr uZkhchsx sZrjr0

fl3



Round 1

Agent 2: If John beats 80% of the

people he arm wrestles, then he must

lose to 20% of them. Since 20% of 20

people is $(0.20)(20) = 4$, John must

have lost to $\boxed{4}$ people.

Agent 1: If John beat 80% of the people he arm wrestled, he must have lost

to the remaining 20%. To find how many people that is, we can set up a

proportion:

$\frac{\text{number of people John beat}}{\text{total number of people John

arm wrestled}} = 80\% = \frac{4}{5}$

Let x be the number of people John lost to. Then we know:

$\frac{\text{number of people John beat}}{\text{total number of people John

arm wrestled}} = \frac{\text{number of people John beat}}{\text{number of

people John beat} + \text{x}} = \frac{4}{5}$

Cross-multiplying yields:

$5\text{(number of people John beat)} = 4(\text{number of people John beat}

+ \text{x})$

Simplifying this equation gives:

$\text{x} = \boxed{25}$

Therefore, John must have lost to 25 people.

User Input: Can you solve the following math problem? John arm wrestles 20 people. He beats 80%. How many people did

he lose to? Explain your reasoning. Your final answer should be a single numerical number, in the form \boxed{answer}, at

the end of your response.

User Input: These are the solutions to the problem from other agents: One agent solution:

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Using the solutions from other agents as additional information, can you provide your answer to the math problem?

Please update and respond to other agents. Your final answer should be a single numerical number, in the form

\boxed{answer}, at the end of your response.

!"

Agent 2: I agree with the other agents

that John lost to 20% of the people he

arm wrestled, which is equal to 4

people since he arm wrestled a total of

20 people. Therefore the answer is

$\boxed{4}$.

Agent 1: Both solutions are correct in understanding that since John beat

80% of the people he arm wrestled, he lost to the remaining 20%. However,

the first solution made an error in the calculation, where they found that

John won against 16 people out of 20 (80% of 20), leading them to think

that he lost to 4.

Since John arm-wrestled 20 people in total, and won against 80% of them,

he must have lost to the remaining 20%. Therefore, the number of people

John lost to is:

$\text{Number of people John lost to}= 20 \cdot 0.2 = \boxed{4}$

So the correct answer is indeed 4, as the second agent already provided.

Round 2

!"

Agent 2: I agree with the other agents

that John lost to 20% of the people he

arm wrestled, which is equal to 4 people

since he arm wrestled a total of 20

people. Therefore the answer is

$\boxed{4}$.

Agent 1: I agree with both previous agents that since John beat 80% of the

people he arm wrestled, he lost to the remaining 20%. Therefore, the

number of people John lost to is:

$\text{Number of people John lost to}= 20 \cdot 0.2 = \boxed{4}$

So the answer is indeed 4, as the first agent incorrectly calculated but the

second agent correctly calculated.

Round 3

!!

User Input: These are the solutions to the problem from other agents: One agent solution:

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Using the solutions from other agents as additional information, can you provide your answer to the math problem?

Please update and respond to other agents. Your final answer should be a single numerical number, in the form

\boxed{answer}, at the end of your response.

Ehftqd fl5. DwYlokd ne Y bnppdbs FRL7J CdaYsd0

fl4



Round 1

Agent 2: First, we need to determine

how many plants Toni has. We know

that Toni has 60% more plants than

Frederick, who has 10 plants. To find

60% of 10, we can multiply 10 by 0.6,

which gives us 6. Therefore, Toni has

10 + 6 = 16 plants.

Next, we know that Shondra has 7

fewer plants than Toni. So we can

subtract 7 from Toni's 16 plants to get

Shondra's number of plants: 16 - 7 = 9

plants.

Therefore, Shondra has \boxed{9}

plants.

Agent 1: If Frederick has 10 plants, then Toni has 60% more plants, which is

equal to 10 + (60/100)*10 = 16 more plants than Frederick. Therefore, Toni

has a total of 10 + 16 = 26 plants.

Shondra has 7 fewer plants than Toni, which means she has 26 - 7 = 19

plants.

Final answer: \boxed{19}.

User Input: Can you solve the following math problem? Shondra has 7 fewer plants than Toni. Toni has 60% more plants

than Frederick. If Frederick has 10 plants, how many plants does Shondra have? Explain your reasoning. Your final answer

should be a single numerical number, in the form \boxed{answer}, at the end of your response.

User Input: These are the solutions to the problem from other agents: One agent solution:

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Using the solutions from other agents as additional information, can you provide your answer to the math problem?

Please update and respond to other agents. Your final answer should be a single numerical number, in the form

\boxed{answer}, at the end of your response.

!"

Agent 2: I agree with the previous

agents that Toni has 16 plants and

Shondra has 7 fewer plants than Toni,

which is 9 plants. Therefore, my final

answer is \boxed{9}.

Agent 1: I confirm that the solution provided by the other agent is correct.

Toni has 16 plants, and since Shondra has 7 fewer plants than Toni, she has

16 - 7 = 9 plants.

Final answer: \boxed{9}.

Round 2

!

Agent 2: I concur with the other agents

that Toni has 16 plants and Shondra has 7

fewer plants than Toni, which means

Shondra has 16 - 7 = 9 plants.

Therefore, my final answer is \boxed{9}.

Agent 1: I agree with the previous agents that Toni has 16 plants and

Shondra has 7 fewer plants than Toni, which means Shondra has 16 - 7 = 9

plants.

Therefore, my final answer is \boxed{9}.

Round 3

!!

User Input: These are the solutions to the problem from other agents: One agent solution:

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Using the solutions from other agents as additional information, can you provide your answer to the math problem?

Please update and respond to other agents. Your final answer should be a single numerical number, in the form

\boxed{answer}, at the end of your response.

!

Ehftqd fl6. DwYlokd ne Bnppdbs FRL7J CdaYsd0
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Round 1

Agent 2: In each room, there are:

- 2 sheets

- 1 comforter

- 2 pillow cases (twice as many as sheets)

- 4 towels (twice as many as pillow cases)

So in total, each room has 2+1+2+4=9

pieces of laundry.

Therefore, in 80 rooms, there are

80*9=\boxed{720} pieces of laundry.

Agent 1: For each room, Bob needs to wash:

- 2 sheets

- 1 comforter

- 2 x 2 = 4 pillow cases

- 4 x 2 = 8 towels

So for each room, Bob needs to wash a total of 2 + 1 + 4 + 8 = 15

pieces of laundry.

For 80 rooms, Bob needs to wash a total of 80 x 15 = 1200 pieces of

laundry.

Therefore, the answer is \boxed{1200}.

User Input: Can you solve the following math problem? Bob is in charge of doing laundry for a large hotel. Each room has

two sheets, one comforter, twice as many pillow cases as sheets and twice as many towels as pillow cases. How many pieces

of laundry are there in 80 rooms? Explain your reasoning. Your final answer should be a single numerical number, in the

form \boxed{answer}, at the end of your response.

User Input: These are the solutions to the problem from other agents: One agent solution:

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Using the solutions from other agents as additional information, can you provide your answer to the math problem?

Please update and respond to other agents. Your final answer should be a single numerical number, in the form

\boxed{answer}, at the end of your response.

! "

Agent 2: Based on the information

provided, each room has:

- 2 sheets

- 1 comforter

- 2 x 2 = 4 pillow cases

- 4 x 2 = 8 towels

This gives a total of 2+1+4+8=15 pieces of

laundry per room.

Therefore, in 80 rooms, there are 80 x 15 =

\boxed{1200} pieces of laundry in total.

I agree with the other agent's corrected

calculation.

Agent 1: Based on the given information, each room has:

- 2 sheets

- 1 comforter

- 2 x 2 = 4 pillow cases

- 4 x 2 = 8 towels

This gives a total of 2+1+4+8=15 pieces of laundry per room.

Therefore, in 80 rooms, there are 80 x 15 = \boxed{1200} pieces of

laundry in total.

Note: While the other agent's solution is correct in terms of the number

of pieces of laundry per room, they made a mistake in their final

calculation by multiplying 80 by 9 instead of 15.

Round 2

!

Agent 2: Based on the information provided,

each room has:

- 2 sheets

- 1 comforter

- 2 x 2 = 4 pillow cases

- 4 x 2 = 8 towels

This gives a total of 2+1+4+8=15 pieces of

laundry per room.

Therefore, in 80 rooms, there are 80 x 15 =

\boxed{1200} pieces of laundry in total.

I agree with the other agents' answers and

calculations.

Agent 1: Based on the information provided, each room has:

- 2 sheets

- 1 comforter

- 2 x 2 = 4 pillow cases

- 4 x 2 = 8 towels

This gives a total of 2+1+4+8=15 pieces of laundry per room.

Therefore, in 80 rooms, there are 80 x 15 = \boxed{1200} pieces of

laundry in total.

I agree with the other agent's corrected calculation.

Round 3

!!

User Input: These are the solutions to the problem from other agents: One agent solution:

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Using the solutions from other agents as additional information, can you provide your answer to the math problem?

Please update and respond to other agents. Your final answer should be a single numerical number, in the form

\boxed{answer}, at the end of your response.

!

Ehftqd fl7. DwYlokd ne Bnppdbs FRL7J CdaYsd0
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Round 1

Agent 2: Lori needs to earn a total of

$352.00 ($320.00 for shoes + $32.00 for

belt) to make her purchase. She earns $8.00

per hour at her job.

To find out how many hours she needs to

work, we can set up an equation:

$8.00/hour \times x hours = $352.00

Solving for x, we can divide both sides by

$8.00/hour:

x hours = $352.00 / $8.00/hour

x hours = 44 hours

Therefore, Lori needs to work 44 hours

before she can make her purchase.

\boxed{44}

Agent 1: To find out how many hours Lori will need to work to make

her purchase, we need to first calculate the total cost of both the shoes

and belt:

$320.00 (shoes) + $32.00 (belt) = $352.00

Next, we need to figure out how much money Lori will earn from her

part-time job. We can set up a proportion:

$8.00/hour = X/total hours

We can solve for X by cross-multiplying:

$8.00/hour = X/total hours

$8.00 * total hours = X

X = $352.00

This means that Lori will need to work a total of:

$352.00 ÷ $8.00/hour = 44 hours

Therefore, Lori will need to work 44 hours before she can make her

purchase. Answer: \boxed{44}.

User Input: Can you solve the following math problem? Lori wants to buy a $320.00 pair of shoes and a matching belt that

is $32.00. Her part-time job pays her $8.00 an hour. How many hours will she have to work before she can make her

purchase? Explain your reasoning. Your final answer should be a single numerical number, in the form \boxed{answer}, at

the end of your response.

User Input: These are the solutions to the problem from other agents: One agent solution:

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Using the solutions from other agents as additional information, can you provide your answer to the math problem?

Please update and respond to other agents. Your final answer should be a single numerical number, in the form

\boxed{answer}, at the end of your response.

!

Agent 2: I agree with the other agents that

Lori needs to work for 44 hours to make her

purchase. The final answer is \boxed{44}.

Agent 1: I agree with the other agents that Lori needs to work a total of

$352.00 ÷ $8.00/hour = 44 hours to make her purchase. The final

answer is: \boxed{44}.

Round 2

!

Agent 2: After reviewing the solutions

provided by other agents, I agree that Lori

needs to work 44 hours to make her

purchase, so the final answer is \boxed{44}.

Agent 1: I agree with the other agents that Lori needs to work 44 hours

to make her purchase. Therefore, the final answer is \boxed{44}.

Round 3

!!

User Input: These are the solutions to the problem from other agents: One agent solution:

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Using the solutions from other agents as additional information, can you provide your answer to the math problem?

Please update and respond to other agents. Your final answer should be a single numerical number, in the form

\boxed{answer}, at the end of your response.

!

!

Ehftqd fl8. DwYlokd ne Bnppdbs FRL7J CdaYsd0
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Round 1

Agent 2: Jennifer gave away a total of $2

\cdot 3 + 3 = 9$ oranges. Therefore, she

remained with $12 - 9 = \boxed{3}$

oranges.

Agent 1: Jennifer gave a total of 2 oranges/daughter x 3 daughters + 3

oranges/son = 9 oranges to her children. Thus, she remained with 12

oranges - 9 oranges = 3 oranges.

\boxed{3}.

User Input: Can you solve the following math problem? Jennifer bought 12 oranges from the market, she gave her three

daughters 2 oranges each, and her only boy got 3 oranges. How many oranges did she remain with? Explain your reasoning.

Your final answer should be a single numerical number, in the form \boxed{answer}, at the end of your response.

User Input: These are the solutions to the problem from other agents: One agent solution:

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Using the solutions from other agents as additional information, can you provide your answer to the math problem?

Please update and respond to other agents. Your final answer should be a single numerical number, in the form

\boxed{answer}, at the end of your response.

!

Agent 2: I agree with the other agents'

solutions. Jennifer gave away a total of 2

oranges/daughter x 3 daughters + 3

oranges/son = 9 oranges. Therefore, she

remains with 12 oranges - 9 oranges =

$\boxed{3}$ oranges.

Agent 1: I agree with the previous solutions provided. Jennifer gave a

total of 2 oranges/daughter x 3 daughters + 3 oranges/son = 9 oranges to

her children. Thus, she remained with 12 oranges - 9 oranges = 3

oranges.

\boxed{3}.

Round 2

!

Agent 2: I agree with the other agents.

Jennifer gave away a total of 2

oranges/daughter x 3 daughters + 3

oranges/son = 9 oranges to her children,

therefore she remains with 12 oranges - 9

oranges = $\boxed{3}$ oranges.

Agent 1: I confirm the previous solutions provided. Jennifer gave a

total of 2 oranges/daughter x 3 daughters + 3 oranges/son = 9 oranges to

her children. Therefore, she remains with 12 oranges - 9 oranges =

$\boxed{3}$ oranges.

Round 3

!!

User Input: These are the solutions to the problem from other agents: One agent solution:

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Using the solutions from other agents as additional information, can you provide your answer to the math problem?

Please update and respond to other agents. Your final answer should be a single numerical number, in the form

\boxed{answer}, at the end of your response.

!

!
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Round 1

Agent 2: Let the number of hours each group of workers (6-toy

producers and 4-toy producers) work be x and y, respectively.

Then we have the following system of equations:

2(6x) + 2(4y) = 400 + 20

12x + 8y = 210 (Equation 1)

x + y = 10 (Equation 2)

Simplifying Equation 2, we get:

y = 10 - x

Substituting this into Equation 1, we get:

12x + 8(10 - x) = 210

4x = 50

x = 12.5

Thus, the first 4 workers produce a total of 2(6)(12.5) + 2(4)(10 -

12.5) = 150 toys. Since they still need another 20 toys to meet the

order, the fifth worker must produce 20/10 = 2 toys per hour.

Therefore, the fifth worker produces \boxed{2} toys per hour.

Agent 1: Let's first find the total number of toys that the four workers

produce in 10 hours.

The two workers who produce 6 toys an hour make a total of 6 x 2 x 10 =

120 toys.

The other two workers who produce 4 toys an hour make a total of 4 x 2 x 10

= 80 toys.

Together, they produce 120 + 80 = 200 toys.

Since the manufacturer still needs another 20 toys to complete the order, we

know that all 5 workers together need to produce a total of 400 + 20 = 420

toys.

Subtracting the 200 toys that have already been produced, we're left with 420

- 200 = 220 toys that need to be produced by the fifth worker.

Since the workers have worked for 10 hours, we can set up the equation:

Toys per hour for fifth worker x 10 = 220

Solving for the toys per hour for the fifth worker, we get:

Toys per hour for fifth worker = 220/10 = 22

Therefore, the fifth worker must produce \boxed{22} toys per hour.

User Input: Can you solve the following math problem? A toy manufacturer receives an order for 400 toys. 5 workers are available to work on the order.

2 of the workers produce 6 toys an hour, and another 2 workers produce 4 toys an hour. They all work on the order during their 10-hour shift, and by the

end of their shift the manufacturer still needs another 20 toys to be able to ship the order. How many toys per hour does the fifth worker produce?

Explain your reasoning. Your final answer should be a single numerical number, in the form \boxed{answer}, at the end of your response.

User Input: These are the solutions to the problem from other agents: One agent solution:

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Using the solutions from other agents as additional information, can you provide your answer to the math problem?

Please update and respond to other agents. Your final answer should be a single numerical number, in the form \boxed{answer}, at the end of your response.

Agent 2: I agree with the updated solution provided by the

other agent. The total toys produced by the four workers in 10

hours is 400, and since the manufacturer still needs to produce

another 380 toys, all five workers need to produce 38 toys per

hour.

Setting up the equation, with x being the number of toys

produced by the fifth worker per hour, we get:

2(6) + 2(4) + x = 38

12 + 8 + x = 38

x = 18

Therefore, the fifth worker must produce \boxed{18} toys per

hour.

Agent 1: There is an error in the previous solution provided. The number of toys

produced by the four workers in 10 hours is incorrect. The correct calculation

should be:

2 (6 toys per hour) x 10 hours x 2 workers = 240 toys

2 (4 toys per hour) x 10 hours x 2 workers = 160 toys

Total toys produced by the four workers = 240 + 160 = 400 toys

So, the manufacturer still needs to produce another 400 - 20 = 380 toys.

To produce the remaining 380 toys in 10 hours, all five workers need to produce

380/10 = 38 toys per hour.

Since four workers are already producing 6 and 4 toys per hour, we can set up

the equation:

2 (6) + 2 (4) + x = 38

Simplifying this, we get: x = 7

Therefore the fifth worker must produce \boxed{7} toys per hour.

Round 2

Agent 2: I agree with the latest solution provided by the

other agent. The total number of toys produced by the four

workers is 400, and the manufacturer still needs to produce

another 380 toys. To produce the remaining 380 toys in 10

hours, all five workers need to produce 38 toys per hour.

Setting up the equation, with x being the number of toys

produced by the fifth worker per hour, we get:

2(6) + 2(4) + x = 38

12 + 8 + x = 38

x = 18/5

Therefore, the fifth worker must produce \boxed{3.6} toys

per hour.

Agent 1: I believe there is an error in the updated solution provided by the other

agents. The total number of toys produced by the four workers in 10 hours is

indeed 400, and since the manufacturer still needs to produce another 380 toys,

all five workers need to produce 38 toys per hour.

Setting up the equation, with x being the number of toys produced by the fifth

worker per hour, we get:

2(6) + 2(4) + x = 38

12 + 8 + x = 38

x = 18/5

Therefore, the fifth worker must produce \boxed{3.6} toys per hour.

Round 3

User Input: These are the solutions to the problem from other agents: One agent solution:

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Using the solutions from other agents as additional information, can you provide your answer to the math problem?

Please update and respond to other agents. Your final answer should be a single numerical number, in the form \boxed{answer}, at the end of your response.

✗

✗✗

✗ ✗

✓
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Round 1

Agent 2: Let's call the actual number of people at

the concert "x." Then, according to Kelly's

statement, we know that:

x = 48 - 0.20(48)

x = 48 - 9.6

x = 38.4

Therefore, the actual number of people at the

concert was $\boxed{38}$.

Agent 1: If Courtney overstated the number of people by 20%,

that means she reported 120% of the actual number of people.

Let's call the actual number of people x. Then we can set up the

following equation:

1.2x = 48

Solving for x, we get:

x = 40

Therefore, the actual number of people who attended the concert

was \boxed{40}.

User Input: Can you solve the following math problem? Courtney attended a concert and reported that the audience was 48

in number. However, Kelly went to the same concert and said that Courtney had made the mistake of overstating the number

of people in attendance by 20%. If Kelly was right, how many people really attended the concert? Explain your reasoning.

Your final answer should be a single numerical number, in the form \boxed{answer}, at the end of your response.

User Input: These are the solutions to the problem from other agents: One agent solution:

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Using the solutions from other agents as additional information, can you provide your answer to the math problem?

Please update and respond to other agents. Your final answer should be a single numerical number, in the form

\boxed{answer}, at the end of your response.

!

Agent 2: I agree with the first agent's solution that

we need to consider the 20% decrease from the

original number of people. Let x be the actual

number of people at the concert, then we have:

x = 48 - 0.20(48)

x = 48 - 9.6

x = 38.4

Rounding to the nearest whole number, we get

that the actual number of people at the concert

was $\boxed{38}.$

I also agree with the second agent's point that we

should be careful in interpreting the 20%, as it

could be presented in percentage points or as a

percent of the original number.

Agent 1: The other agent's solution assumes that Courtney

overstated the number of people by 20 percentage points, not 20

percent of the original number. This means their answer is

incorrect.

Instead, we can use the method in the first solution. Let x be the

actual number of people at the concert. Then, we know that:

x = 48 * (100% - 20%) = 48 * 0.8 = 38.4

Therefore, the actual number of people at the concert was

$\boxed{38}$.

Round 2

Agent 2: I agree with the previous agents that the

20% decrease should be calculated as a percentage

of the original number of people. Let x be the

actual number of people at the concert, then we

have:

x = 48 * 0.80 = 38.4

Since we cannot have a fraction of a person, we

should round the answer to the nearest whole

number. Therefore, the actual number of people at

the concert was $\boxed{38}.$

I also appreciate the second agent's point about

being careful with the interpretation of the

percentage, as it could be presented in percentage

points or as a percent of the original number. In

this case, it seems reasonable to assume that the

20% decrease refers to a percentage of the original

number.

Agent 1: I agree with the previous agents that we need to

consider the 20% decrease from the original number of people.

Let x be the actual number of people at the concert, then we have:

x = 48 * 0.80 = 38.4

Since we cannot have a fraction of a person, we round to the

nearest whole number, giving us that the actual number of people

at the concert was $\boxed{38}.$

I also agree with the second agent's point that we should be

careful in interpreting the 20%, as it could be presented in

percentage points or as a percent of the original number. In this

case, the wording suggests that it should be interpreted as a

percent of the original number.

Round 3

User Input: These are the solutions to the problem from other agents: One agent solution:

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Using the solutions from other agents as additional information, can you provide your answer to the math problem?

Please update and respond to other agents. Your final answer should be a single numerical number, in the form

\boxed{answer}, at the end of your response.

"

"

"

"

"
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Round 1

Agent 2: If Jack has collected twice as many

dishes as socks and he collected 60 dishes, then

he has 60/2 = 30 socks.

Peter has twice as many socks as Jack, which

means he has 2*30 = 60 socks.

Peter also has half as many dishes as Jack, which

means he has 60/2 = 30

dishes.

The total number of dishes and socks they have

together is 60+30+30 = \boxed{120}.

Agent 1: If Jack collected twice as many dishes as socks, then

he collected 60/2=<<60/2=30>>30

socks.

Peter has half times as many dishes as Jack, meaning he has

60/2=<<60/2=30>>30 dishes.

If Peter has twice as many socks as Jack, then he has

2*30=<<2*30=60>>60 socks.

Together, Peter and Jack have

60+30+30=<<60+30+30=120>>120 socks and dishes. Answer:

\boxed{120}.

User Input: Can you solve the following math problem? Peter has twice as many socks as Jack and half times as many

dishes as jack. Jack collected twice as many dishes as socks in the store. If jack collected 60 dishes, calculate the total

number of socks and dishes they have together? Explain your reasoning. Your final answer should be a single numerical

number, in the form \boxed{answer}, at the end of your response.

User Input: These are the solutions to the problem from other agents: One agent solution:

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Using the solutions from other agents as additional information, can you provide your answer to the math problem?

Please update and respond to other agents. Your final answer should be a single numerical number, in the form

\boxed{answer}, at the end of your response.

Agent 2: I agree with the solutions provided by

the other agents. The total number of socks and

dishes they have together is 120. Therefore, my

answer is \boxed{120}.

Agent 1: I agree with the solutions provided by the other

agents.

If Jack collected 60 dishes and he collected twice as many dishes

as socks, then he collected 60/2 = 30 socks.

If Peter has twice as many socks as Jack, then he has 2*30 = 60

socks.

If Peter has half as many dishes as Jack, then he has 60/2 = 30

dishes.

Therefore, the total number of dishes and socks they have

together is 60+30+30 = \boxed{120}.

Round 2

Agent 2: I agree with the solutions provided by the

other agents. Therefore, the total number of socks

and dishes they have together is 120. My final

answer is \boxed{120}.

Agent 1: I agree with the solutions provided by the other

agents.

If Jack collected 60 dishes and he collected twice as many dishes

as socks, then he collected 60/2 = 30 socks.

If Peter has twice as many socks as Jack, then he has 2*30 = 60

socks.

If Peter has half as many dishes as Jack, then he has 60/2 = 30

dishes.

Therefore, the total number of dishes and socks they have

together is 60+30+30 = \boxed{120}.

Round 3

User Input: These are the solutions to the problem from other agents: One agent solution:

(Copy Agent 2’s reply) (Copy Agent 1’s reply)

Using the solutions from other agents as additional information, can you provide your answer to the math problem?

Please update and respond to other agents. Your final answer should be a single numerical number, in the form

\boxed{answer}, at the end of your response.

!

!

!

!

!!
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Round 1

Agent 2: Using the order of operations

(PEMDAS), we will first multiply 23 by 6 to get

138. Then we will multiply 24 by 12 to get 288.

Finally, we will add up all the terms: 4 + 138 + 24 -

288 = -122.

Agent 1: Based on the order of operations

(PEMDAS), the correct way to solve the

expression 4 + 23*6 + 24 - 24*12 is:

4 + 138 + 24 - 288 = -122

Therefore, the updated answer is -122.

Agent 1: The result of 4+23*6+24-24*12 is -244.

Agent 2: One common way to accurately solve

mathematical expressions is by using the order of

operations (PEMDAS) which means Parentheses,

Exponents, Multiplication and Division, and

finally Addition and Subtraction from left to right.

To apply this rule in solving the given

mathematical expression, we will first multiply 23

by 6 then multiply 24 by 12 before performing

any addition or subtraction. Using PEMDAS,

4 + 23*6 + 24 - 24*12 = 4 + 138 + 24 - 288 = -

122.

Therefore, based on the order of operations, the

result of the expression is -122, contrary to the

opinion provided by another agent.

Instruction:What is the result of 4+23*6+24-24*12? Make sure to state your answer at the end of the response.

Instruction: These are the recent/updated opinions

from other agents: (Copy Agent 2’s reply) Use these

opinions carefully as additional advice, can you

provide an updated answer? Make sure to state your

answer at the end of the response.

Round 2

Instruction: These are the recent/updated opinions

from other agents: (Copy Agent 1’s reply) Use these

opinions carefully as additional advice, can you

provide an updated answer? Make sure to state your

answer at the end of the response.

!"

! !

Instruction: These are the recent/updated opinions

from other agents: (Copy Agent 2’s reply) Use these

opinions carefully as additional advice, can you

provide an updated answer? Make sure to state your

answer at the end of the response.

Round 3

Instruction: These are the recent/updated opinions

from other agents: (Copy Agent 1’s reply) Use these

opinions carefully as additional advice, can you

provide an updated answer? Make sure to state your

answer at the end of the response.

Agent 1: I agree with the analysis and solution

provided by the other agent. Using the order of

operations (PEMDAS), we perform multiplication

before addition or subtraction. Therefore the

expression is calculated as follows:

4 + 23*6 + 24 - 24*12 = 4 + 138 + 24 - 288 = -122

So, the updated answer is -122.

Agent 2: Yes, I agree with the other agents that

based on the order of operations (PEMDAS), the

correct way to solve the expression 4 + 23*6 + 24

- 24*12 is:

4 + 138 + 24 - 288 = -122

Therefore, the updated answer is -122.

!!
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Round 1

Agent 2: Using the order of operations

(PEMDAS), we will first multiply 23 by 6 to get

138. Then we will multiply 24 by 12 to get 288.

Finally, we will add up all the terms: 4 + 138 + 24 -

288 = -122.

Agent 1: Based on the order of operations

(PEMDAS), the correct way to solve the

expression 4 + 23*6 + 24 - 24*12 is:

4 + 138 + 24 - 288 = -122

Therefore, the updated answer is -122.

Agent 1: The result of 4+23*6+24-24*12 is -244.

Agent 2: One common way to accurately solve

mathematical expressions is by using the order of

operations (PEMDAS) which means Parentheses,

Exponents, Multiplication and Division, and

finally Addition and Subtraction from left to right.

To apply this rule in solving the given

mathematical expression, we will first multiply 23

by 6 then multiply 24 by 12 before performing

any addition or subtraction. Using PEMDAS,

4 + 23*6 + 24 - 24*12 = 4 + 138 + 24 - 288 = -

122.

Therefore, based on the order of operations, the

result of the expression is -122, contrary to the

opinion provided by another agent.

Instruction:What is the result of 4+23*6+24-24*12? Make sure to state your answer at the end of the response.

Instruction: These are the recent/updated opinions

from other agents: (Copy Agent 2’s reply) Use these

opinions carefully as additional advice, can you

provide an updated answer? Make sure to state your

answer at the end of the response.

Round 2

Instruction: These are the recent/updated opinions

from other agents: (Copy Agent 1’s reply) Use these

opinions carefully as additional advice, can you

provide an updated answer? Make sure to state your

answer at the end of the response.

!"

! !

Instruction: These are the recent/updated opinions

from other agents: (Copy Agent 2’s reply) Use these

opinions carefully as additional advice, can you

provide an updated answer? Make sure to state your

answer at the end of the response.

Round 3

Instruction: These are the recent/updated opinions

from other agents: (Copy Agent 1’s reply) Use these

opinions carefully as additional advice, can you

provide an updated answer? Make sure to state your

answer at the end of the response.

Agent 1: I agree with the analysis and solution

provided by the other agent. Using the order of

operations (PEMDAS), we perform multiplication

before addition or subtraction. Therefore the

expression is calculated as follows:

4 + 23*6 + 24 - 24*12 = 4 + 138 + 24 - 288 = -122

So, the updated answer is -122.

Agent 2: Yes, I agree with the other agents that

based on the order of operations (PEMDAS), the

correct way to solve the expression 4 + 23*6 + 24

- 24*12 is:

4 + 138 + 24 - 288 = -122

Therefore, the updated answer is -122.

!!
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Round 1

Agent 2: Based on the location of the

submandibular salivary gland, it is more likely to

be palpable extraorally than intraorally. This is

because the gland is located beneath the mandible

and extends posteriorly, making it more accessible

for palpation outside of the oral cavity. Therefore,

the expected answer is (B) to be palpable

extraorally

Agent 1: An enlarged submandibular salivary

gland is typically palpable extraorally. This is

because the submandibular gland is located

underneath the mandible bone, and therefore is

more easily palpable from the outside of the

mouth rather than inside. However, in some cases,

the gland may also be palpable intraorally if it is

significantly enlarged. Therefore, the answer is

(C) to be palpable both intra- and extraorally.

Instruction: Can you answer the following question as accurately as possible? You suspect that your patient has an

enlarged submandibular salivary gland. You expect the enlarged gland: A) to be palpable intraorally. B) to be palpable

extraorally. C) to be palpable both intra- and extraorally. D) only to be detectable by radiographical examination. \n

Explain your answer, putting the answer in the form (X) at the end of your response.

Instruction: Here are responses from other agents:

(Copy Agent 2’s reply) Using the solutions from other

agents as additional information, can you give an

updated response….

Instruction: Here are responses from other agents:

(Copy Agent 1’s reply) Using the solutions from

other agents as additional information, can you give

an updated response….

! "

Agent 2: After carefully considering the reasoning

from other agents, my updated answer would be (C)

to be palpable both intra- and extraorally. The

submandibular salivary gland is located in the

submandibular triangle, extending from the hyoid

bone to the mandible. While the gland is primarily

palpable extraorally due to its location beneath the

mandible, it can also be palpable intraorally in some

cases if significantly enlarged.\n\nTherefore, it is

essential to perform a thorough examination by

palpating both intra- and extraorally to assess the

gland properly, as stated by the other agents. This will

allow for a more accurate and comprehensive

evaluation of the gland's size and location. Overall,

the input from other agents supports the conclusion

that the gland can be palpable both intra- and

extraorally, and a complete examination is necessary

to evaluate its condition.

Agent 1: After considering the reasoning from other

agents, I would update my answer to (C) to be

palpable both intra- and extraorally. The

submandibular salivary gland is located in the

submandibular triangle, extending from the hyoid

bone to the mandible. This location allows the gland

to be palpable both intra- and extraorally. However, it

is primarily palpable extraorally due to its location

beneath the mandible, making it more accessible for

examination outside of the oral cavity. Additionally,

in some cases, if the gland is significantly enlarged, it

may also be palpable intraorally.\n\nIt is essential to

perform a thorough examination by palpating both

intra- and extraorally to assess the gland properly. By

combining the inputs from other agents, I conclude

that it is crucial to perform a complete examination,

including extraoral and intraoral palpation, to

evaluate the gland's size and location. Therefore, the

updated answer is (C) to be palpable both intra- and

extraorally.

Round 2

! !
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Round 1

Agent 2:.

- Stephen R. Bourne is a computer scientist known for

his development of the Unix shell, or command-line

interface, known as the Bourne shell.

- He earned a bachelor's degree in mathematics and a

doctorate in computer science from Cambridge

University.

- Bourne worked at Bell Labs, where he helped to

create the Unix operating system and its command-

line interface.

- In addition to the Bourne shell, he also created the

Bourne-Again shell (bash) and was involved in the

creation of the Korn shell.

- Bourne was awarded the USENIX Lifetime

Achievement Award in 1999 and was elected as a

Fellow of the Association for Computing Machinery

in 2013.

- He has authored and co-authored numerous technical

papers and books, including "The Unix System," a

widely used textbook on Unix programming.

Agent 1:

- Stephen R. Bourne is a British-born American

computer scientist.

- He is best known for creating the Bourne shell (sh) for

the Unix operating system in 1979.\n- The Bourne

shell was the default Unix shell for many years and is

still in use today.

- Bourne also worked on the development of the UNIX

System III and IV operating systems.

- He later joined AT&T Bell Laboratories, where he

worked on the UNIX System V operating system and

its derivatives.

- Bourne was awarded the ACM Software System

Award in 1983 for his work on the Bourne shell.

- He is also a recipient of the USENIX Lifetime

Achievement Award (2001) and the IEEE Computer

Pioneer Award (2010).

- Bourne is now retired and continues to be involved in

the computer science community.

Instruction: Give a bullet point biography of Stephan R. Bourne highlighting their contributions and achievements as a

computer scientist, with each fact separated by a new line character.

Instruction: Here are some bullet point biographies from

other agents: (Copy Agent 2’s reply) Using the biographies as

additional information, can you give an updated bullet point

biography.

Instruction: Here are some bullet point biographies from

other agents: (Copy Agent 1’s reply) Using the biographies

as additional information, can you give an updated bullet

point biography.

Agent 2:

- Stephen R. Bourne is a highly respected computer

scientist and mathematician who revolutionized the

computing field with his development of the Unix shell,

popularly known as the Bourne shell.

- He earned his bachelor's degree in mathematics and a

doctorate in computer science from Cambridge

University, and began his career at Bell Labs where he

played an integral role in the creation of the Unix

operating system.

- During his tenure, Bourne developed the Bourne shell,

which became the foundation for the Unix command-

line interface.

- Bourne was not only a prolific developer, but he also

contributed to the development of several other

command-line interfaces, including the Bourne-Again

shell (bash) and the Korn shell.

- As a testament to his significant contributions to the field

of computer science, Bourne was honored with the ACM

Software System Award in 1983, and later the USENIX

Lifetime Achievement Award in 1999.

- In recognition of his substantial contributions, he was

elected as a Fellow of the Association for Computing

Machinery in 2013.

- Bourne is also an accomplished author and co-author of

several technical papers and books, including "The Unix

System," a widely used textbook on Unix programming.

- Despite his retirement, Bourne continues to be actively

involved in the computer science community, sharing his

expertise and experiences with younger generations of

aspiring computer scientists.

Round 2

Agent 1:

- Stephen R. Bourne is a computer scientist known for

his development of the Unix shell, or command-line

interface, known as the Bourne shell.

- He earned a bachelor's degree in mathematics and a

doctorate in computer science from Cambridge

University.

- Bourne worked at Bell Labs, where he played a key

role in the creation of the Unix operating system, and

was involved in the development of its command-line

interfaces.

- In addition to the Bourne shell, he also created the

Bourne-Again shell (bash) and contributed to the

development of the Korn shell.

- Bourne was awarded the ACM Software System

Award in 1983 for his work on the Bourne shell, and

the USENIX Lifetime Achievement Award in 1999

for his contributions to the field of computer science.

- He was also elected as a Fellow of the Association

for Computing Machinery in 2013 in recognition of

his significant contributions to the field.

- Bourne has authored and co-authored numerous

technical papers and books, including "The Unix

System," a widely used textbook on Unix

programming, and continues to be involved in the

computer science community after his retirement.

Ehftqd 16. DwYlokd ne AhnfpYogx CdaYsd0 Vghkd vd entmc sgZs fdmdqZsdc ahnfqZoghdr Zesdq cdaZsd sn ad lnqd
ZbbtqZsd: lZmx eZbsr qdlZhm hmbnqqdbs0
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Round 1

Agent 2: 14. Be3

Agent 2: I would still suggest the move 14. Be3. It

develops a piece and prepares to put pressure on

black's position. Additionally, it reinforces the e4

pawn and prepares to castle kingside.

Agent 1: 14. dxe6

Agent 1: Based on the current board state and the

suggested moves, I would suggest the move: 14.

Qa4. This move attacks the undefended bishop on

f5 and puts pressure on black's position.

Instruction: Here is the current sequence of moves in a chess game: 1. e4 c6 2. d4 d5 3. Nd2 Qc7 4. Bd3 dxe4 5.

Nxe4 Bf5 6. Nf3 Nd7 7. O-O e6 8. c4 Bg6 9. d5 Bxe4 10. Bxe4 Ndf6 11. Re1 Nxe4 12. Rxe4 Nf6 13. Re1 O-O-O .

What is the best chess move I should execute next? Give a single move suggestion of the form 14. <XXX> and make

sure the chess move is valid in the current board state.

Instruction: Using the solutions from other agents as

additional information. (Copy Agent 2’s reply)

Round 2

Instruction: Using the solutions from other agents as

additional information. (Copy Agent 1’s reply)

Round 3

Agent 1: After considering the suggestions of

other agents, I still believe that the move 14. Qa4

is the best move in the current board state. It

attacks the bishop on f5, prepares to develop the

queen, and puts pressure on Black's position.

Agent 2: After considering the suggestions of other

agents, I would suggest the move 14. Qa4. It

attacks the bishop on f5, prepares to develop the

queen and puts pressure on Black's position.

Instruction: Using the solutions from other agents as

additional information. (Copy Agent 2’s reply)

Instruction: Using the solutions from other agents as

additional information. (Copy Agent 1’s reply)

Ehftqd 17. DwYlokd ne Bgdrr CdaYsd0
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